~~AENA B palaal)

:Modifiers
In our previous overview of phrases, We mentioned that each phrase has a head and
one or more modifiers

LR B pualaall B WL S AN eIl (e Giaatin b palaal) oda A
LGl tad) oo Whaad Laaie WU <) el aeall -
Wi ST g aalg Jirag aalg Mol M Ao (g gt B e IS Of U S

:Modifiers can be divided into two groups
1. Pre-modifiers are modifiers that come before the head
2. Post- modifiers are modifiers that come after the head

Oty (i gana () il Y anall
Wil 38 AL A A g > ASLAYN e aall- Pre-modifiers
ool N A A A g > 4Gl e mali2- Post- modifiers

.. ( Take a look at the following noun phrases ( NPs

ssinally AU ey 396l cilay AN Jgandl (e (slaa 0 gl o Y Y Aa il )
.. Liads)

A0 (NPs ) dpan) il ) Ao 3 ki i

¥ Jhall B
a good friend

friendss Ll -
.4d b friend awdd A8 J3na sla 430 i Pre- modifiers s\> 5 a good s Jiral) s
frlend Aals | glie good s a 13-
"addl gay ALl e " Gaa " friend-oul Y Llea ol ¢ LU La s g g friend oe LalSie
"..lagood-

;Lf'lfd\ Jial) Q,A
my school friends

friendsss ol -
4328 friend awdd L8 J3a sla 43) ) Pre-modifiers s> s my school s Jiaall -
friends..Aal< | i school s my 13-
Uy uﬂu school » my ¢yilarall Ul Laaie us: 5 sBaal é\ (2 9l e 38 friends Aals-
) i sia) A jial (e @g_ﬂ Layl Ui ‘_,..M.\m\ ﬁ"‘ &
school ..s my ¢l i) 038 JMA (ha L) aa " friends” ol U Ll 13-

=Gl Sl Q,A
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the headmaster of the school

e Jira g (al8 Jara Ll La.
headmaster .4l Jaa <sla of the school o_tud)- ]
Wlidda) Ladic the 311 O s Lia 48 ma s} Jaa o 3ol headmaster s ) Jaa 58 the 13-
.. 48_pa alaa headmaster asY) e
3 JS Ga) e headmaster Y 4l <2 headmaster ol s iy 23813 (- The
O 1 gman 9 paienall g Eaatal) (e NS Adjay 53 g (iea headmaster J:headmasters)
sl ba Je 3 suheadmaster
. i) sz (headmaster) ! Jza Lyl of the school gaxd) Jurall-
e dagial paa s the headmaster o JiST JSd Uaaa 13

sl QU B
the headmaster’s desk

, desk .8 (i N-
WOl odaa Jela g headmaster’s s the L Culazall -
Al Allaiay) A5 ¢ad Ugh: the headmaster’s Jsi Ladie oS! clgla i ) jads 38 desk ol -
LA e 3 gl
((the casald « headmaster U &l Ll (A 5 sa3ah g Abma Alglla (e LA Eidai cad T30
) .. sl A gheadmaster’s desk- )
(desk)..awdl Adlaial) pas o Uasla JUal) 138 A Jaral) 3.

s el Al S ‘;3
several students

students .58 4z o jladl sda B (il -
o ¢ Aathall G JHBY Y g ¢ datlall JS G 3 gualiall ¢ studentsuaad e Usela several Jinal -
L 5 ptd e g AdaS Ultle | el 138 B Jonal) 138 T3
s ) L)
we all

osadally dilaial) (g pads e gara b Ve 2 o Lol oSaall G-
: we allfie-
Loa gh- We <
ws Jira Ud sla g Jdrall a-all <

_,MQ&M!@M&}«@.«M\MJ.

) Ja) B
everyone in our class

.ol ga- everyone <
w3 Jia Sela 50 ke (A-in our class <
o el Galaial) o jrana Ao gana Liag) dpand 138 g-
- When the head is a noun, modifiers usually precede it
- Phrase like “of the school” follow it
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- When the head is a pronoun, modifiers normally follow it

head . U A5 (of 4l Bl o anal) "8) anl (Ll 1) "y 985 Ladic*

Ay Y ina A LE: (of the school - in our class) Jie <) @il (¥ inad) ¢ 98 Latie oD ¢
"head" .- & Phrases < sda ¢ld "cildna™ cuils 13 el e ") o 6 (Gl )1 o AN audld

head .- ax; il (o dai Bate ™ e anal) ") jiaca (Ll 1) "0 g8y Latis ¥
rABlu) AiaY) 8 U S3 LaS
everyone in our Jiall 3al; (S sa 9 someone in our school (A% Jtia JB g Jadli  gisal) Lia
, L LS 5 Alaad) el 58 A oS! gclass
Ay e a1 head” sla Ua psedall 5 jpaal) say (A Ll ciandl) ") BadS we all o)
:Pre-modifiers in the previous examples include the following main classes of
words
1. Adjectives
e.g.>>good

2. Nouns which modify other nouns
e.g.>> school

3. Determiners
e.g.>> a, the, my

Al CilalSll A ) LAY Jadd ABilaad) ALiaY) 8 4LAl camall*
JS (e dae Ul 4] ) gliadiu 4y praal) cile panall 9 dpan) <l jlall Gibuad) Jgaad) 1) giad 130 73
) Jsand) 8 T LA 83 Al 4ldl) e anall La guad ol j3d1)

)ciliall ) A gY) 4dit.
ALY eVl (e Ciliad ¢ gooddie "plaw) Jiad cilia"

)i lansy) ) 4l 48112
Aolidl) e anal) che e o Al plad Jiad glaw"
my school friendsdles (2 school 4als: (i
o) & 9 aml Lyl friends s al- school
friends oY 3= school aw) Ligé-

)l dAS) ) ALY 4sdl|3-
DB 3y Jaadily laasal) (EBULG ¢ a, the, my Jis
:Exercise
:In the following phrases, decide which of the underlined words is
a. the head
b. a post- modifiers
c. a pre-modifiers

1. a big store
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a. the head

A sa- store
83 @R-a
.Ada 2- big
big .5 a W 5 Cnlaray Guu store oul -
a. the head s& _Lsay! 13-

2. the store manager
c. a pre-modifiers

manager ..s8 (il Jl-
manager of the store ..s &aaii Ui manager s2.5 (el i) A agie 0dal g cilalS 3 U Liale
manager .- L& Jaa s s manager 4als Jis- store
ol Ly 3 o) manager s - store
c. a pre-modifiers s LAY 13 ¢ aud) J@ Al AN Jaadl 5 AT acd Joo anl-

3. the leader of the group
b. a post- modifiers

ol A1 2y i g U Bad g (of the group) 4w Ja ghaiall
LA e daaiUa U ¢ Gl ) sa- the leader
A g2 Jaxa g2 13) ¢( 2 the leader dalS a2y (51 ) sy (Sb g the leader J- of the group
(the leader) ..ol ) 2
233 Uigh the leader of the group Jsii Laxie ¢SI 5 11913l 28 U i ai ¥ the leader Jii Laxiad.
) i 2il8) 43 jpa Adladia) (1
4 gaxa 6 (the leader of the group - 43 & 5 ¢pma £ &l Al w3 e Uselu Jural) Ua 3.
). A
b. a post- modifiers s JLIAY) ¢ g2z Jara s2- of the group

4. the group leader
c. a pre-modifiers

.oul Al sa- leader
il Jma 52 130 ¢l 1) 3 sla L g Jarall sa- the
JLay J=a sa- group
c. a pre-modifiers 2 _iay!-

5. someone in my office
a. the head

||kup(.ssssu~'dtim KT
) 8% b L 2l someone (s plsi
g2 d2a 4 g (in my office ) Jgoaas o 3k & (e b9 oul 1) s- Someone
A 'KY PN ULAY\ ?&A uﬁ Gt slawy) S Slla g doamy EN s é.\.u Hlaall Bale g LUSJ LS -
Laald

Ca

a. the head sy JLEaY) 13l
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Determiners

:Determiners are word which specify the range of reference of a noun by
making it

- (definite (the book
- (indefinite (a book
- (or by indicating quantity (many books

):clasaall Determiners (B () Enaally 3 gaia oY)

¢ Qlaaaall A L
idaa 3aoh (8 andld aa sall e adad CilalS e o be (A Clddal)

i an) Jrag 38 13): L8 2a1-
((QUSN) S QS 6F Gad cadaa it JUal) 13a Jaad Ll (QList) J 4 Laie Ugd o the book Jie
LS 138 3 g 13 o ) palay g A galey Gaaatial) g aaial) o) dua

WA e ald) Jaag ) J s ) [y *£2-
% (He bought a book) 41l alaal) (2 Uigh (S (g} ) sy 88 (LUS) 4l 1Y) «; @ book Jia
WS o) ) LS @ book- 4als s

Lo ldia gl ApaS ) T e ane¥) Jang 8 Jlaka ) AsaS ) | jadia3-
: many books Jis
many .. Ua saaall

books .52 La au)-
LSl e Adma 43S (e 0 4Sh paad L Uselu 88 many Saaall-
LS (a3l oS g Sl (e ST (e
Determiners can be either identifiers or quantifiers

1. identifiers
tell us either definitely or indefinitely which noun the speaker means

:They include
:a. Articles
(al an (indefinite articles
(the (definite articles

:b. Demonstratives
this, that, these, those

:c. Possessive Forms of Personal pronouns
my, your, his, her, its, our, their
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2. Quantifiers
tell us either definitely or indefinitely the quantity of the noun

:They include

:a. Numerals
(one, Two, three... (cardinal numerals
(first, second, third... (ordinal numerals

b. Words
like: much, many, each, every, a few, little, all, several, plenty...etc

G o b ) clasaall aldin GV T3 ¢ AT Cand ) cldiaall alidl o Liagl LiiSat
) L pil) & gaf) iy aal) o X A gY) As ganall]-
LAgas) gdiah o AL A4S ganall2-

Al IS (il aA) e cind Liagf cilid 1) alds oY) 4s ganall*
): iy ail) < gal) clhaali-
)i ) g Y La ) gl ) Cidah -ada (aS5h Gaaatall oaualy 53 and) (S 130 La U s
Liaa i o) ddna g JB oS3 A Al shy Cuaaial) dualy 3le ADIA (e i jada L 13-

Jada atéji.idi
«l g3Y)- Articles |
A ey ARl Lglas 5 (dmaumd) ARl (B (o oIS La) (B iy a3 conal Lab ) 51 3* @] an:
Y oY Al IS G ot 3101 agdl J58E 71y Le ity ASBAY 9 3 sk 400 Cua ac) ladag Lagd)
A JS A8 gy g Adligh Al JSa Labsay B gl auid) RELEY
iy i 3)al*the :
) ..<laasall(Determiners — - i3 Articles als JSds ¢Sl

1o L&Y) ¢lawl- Demonstratives <
Al) Eanial) iy Le agh B Uaelud 448 ola
sl 4dla ) o LAY 5 Ade Gaaady M) and) aBge aand b uaadal) sebud 448 o34 13
L) L L dua e a) aaas e L Wisela o This screen Jie
Lgdad slad) ) o Al elLadil ) o LY slacd sadi o Lyl ¢Saall Cpa-
S gl g ol Al s Al 138 (S o e s LudY) Chag B o LAY pland aladiud W ¢Sy

Amadldl) siledall Sl dasa JIS) - Possessive Forms of Personal pronouns =
Alall silad g jilaall 038 (i ATl ) dalay ol
> mine, yours, hers, his, its, ours, theirs4slall jilad disa.
> my, your, his, her, its, our, theiriaxai.all 4:slal) yilas dipa.
e L) 13) W dua) e (modifiers Wl (bl Ao Ciiial dpaddl) jiladall 4xstal) disa
Aallaial) e da5 U @,...‘1\
My book Jsii Laxina
),_@GS)&M\JAJQ&MQE@‘QGS @) LA i Y
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..JaMy - > modifier
..~book - > noun

rdpasl) 33342,
W Eal) gl Agast) ddaa e i diaa an) OIS O Le Ui

Jadd dgadl) g3iah
alas Y -
el g8 o le A ) alal)) Al dlas )
: one. Two, three... Jis
4.3% ‘QLB\ 5-\3\3

W3 G O o e (A g1 i) as Y
: first, second, third...J
Glals. o
: much, many, each, every, a few, little, all, several, plenty Jis
Exercise

:Identify the type of the underlined determiner in the following sentences
a. article

b. demonstrative

C. possessive

d. quantifier

1. This exercise is easy
b. demonstrative

b. demonstrativess cisall i3 ¢ o exercise Y <Ll This dals Lia

2. Their friend is here
C. possessive

wagiina (118 e (Bla ) Le g oo B S8 Aalsl) oda Lithe| B LA g ¢ jraa Their 4als
C. poSSessives sl ¢ ol jadl 4l dipa (A 13

3.The visitor came early
a. article

a. articless qsad 13 ¢ iy 23 5041 AThe
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4. Many people watch the show every week
d. quantifier

W8 Sl S UL (¢ gLy ) (ulil) (ha Alma 43S (e 048 Lithe | Many Aals
Aaas!) Badaa A 130 ¢ La Adas oo 0SB Lithe | Many 4als 13)
d. quantifierss <isaé

5. These sentences are interesting
b. demonstrative

b. demonstrative s < sal) 13 « e al ) o L) aThese

Person, Number and Gender

:Person

Nouns can be

.(personal (humans

.(or non-personal (animals and inanimate objects

Note: Personal nouns can only be
.(animate (because they only refer to humans

Non-personal nouns can be either
.(animate (when they refer to animals
.(inanimate (when they refer to inanimate objects

ioudad) £ 98 gAY 5 "OadAN" 0 il Ge b g Cilida p gaga ) OY) S

"oadddl™ 3 Al

rela) 0585 O Saadl (e
i > Anadlde

Jlalan g el gaa > Al S

ks sala

o) o Jah 3 gas LS ¢ Aal) LSl ¢ o5 b Aadiil) o Lacdl)*
(1988 o Lal Asadid 4 ad) g landy*

Lol gaadl ) i Laade > diald) coliilstl.

Glalaad) A padd Ladie > da palf cliilsll.

We can also use the term “person” in a different way
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:Traditionally, personal pronouns differentiate between
- (the person speaking (first person
- (the person spoken to (second person
- (and the people or things spoken about (third person

1st person pronouns: |, We
2nd person pronouns: you
3rd person pronouns: he, she, it, they

Adlid, 48y jhay (Person) C_\M PNKESIW L l..'d&u,*;
)i dl) yiladal) (b ellaaall 138 () gatiin (i sail Sale

o 83 Al il

) WIS cijhll(2 S @ g daaial) gadddl.
) Al iR Sl s g Ad) GdATAY Gadll.
) LN Gl ol A g (agde GAAGAY) Lede Gl s LY g Gl

-, Wededs 3531 cahll jiles®
D YOU Jadd (Ul cajhll jilaa*
: he, she, it, they Jedd &8 G k) il
:Number

.Singular (number) or plural (number) affects the form of almost all count
nouns, pronouns and demonstratives

:Here are some examples
:Count Nouns

(student (singular
(students (plural

:Mass Nouns are considered to be singular
(e.g.>> water, rice (singular

:Pronouns
(I, you, he, she, it (singular
(We, you, they (plural

:Demonstratives

(this, that (singular
(these, those (plural
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):alac i) sa Agd) JEiiia &) AU £ gua gal)

19S5 28 a)ac )

LA dae

) S 4 2ie) e 2o

)2 LN slacl- silaall-od garal) slacl) )) alinal JS&N o i Leild aan i 3j8a LS &) g SasY) 038
o (o LN sLam- silacall-oa garal) ¢lacd) )1 JSA calasy) o falaie) §3)

A8 L) QSN 02 (e AliaY) (lamy ALY

1 Jia (02 gazal) slau¥11-
.aastudents > « 2 isstudent >

.&amen > « 2 deman >
Jelsd i aaeYigde 5 aagarall sla) 131 calae U ladi ¢ jias placdl) o) Jaadl Uia

LAoda singularhﬁ OsSs ‘)Mﬁﬁ\)a{gm o) slacy) Lol

) .4 water, rice > Jis
AN 5 ke Ll eIy AL sagana i) sland) 1) ¢ 1 ol Ll 00 gana il slandl) o Baad Ua
Jelsd e sy

rfia ¢ pilazali2-

2 A4l you, he, she, it >

&aWe, you, they >
@uauﬂwu,aﬂsuﬁ\ﬂuwwawm Sigall (pa

Jsa e aae ) Lle A jitadal) T3 calae U e s iladal) ¢ Jaadl Uia

Jia soJL&‘z’\ slaw)3-

2_dsthis, that >

) tsathese, those >

LS il slasy) Lgde 5t o La elacd 130 calas S Ta s o LY slacd oof Liay) a3l U

Whether the subject is 1st person, 2nd person or 3rd person; and whether it is
singular or plural can affect the form taken by the verb

(e.g.>> He walks home everyday. (3rd person singular subject
(I walk home everyday. (1st person singular subject
(They walk home everyday. (3rd person singular subject
). gﬂ‘)umdu JM\M&CJ—\J—\.\QM‘J&H

S8 e i 38) 2 ke i pan (Lal (osSs Ladie g) e 5]) i SRR 35S, Laie
il
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e
1- He walks home everyday

).Jadll Jei o figlia g (Jolboy jba-dili Gl saHe <
: walks..zuad « walk Jadll Ao (S) cisdain 131
) e sJeld (oo s le G Gaphal) 138 o g CdBl Gijhall e Jai Al Aadlal) ga Jadl) B (§) D)

2- | walk home everyday

).dsh it by | oY Jadl) JS o iy ot n (ot hand gl il <
walk ..Jadll o (§) i ¥ 13
(S) . & 9 2 8all Jelal) Uil i jhal) Aadle Ale Wil Ciuiai ¥ 3 jdall Joldll J oY) ikl A

3- They walk home everyday

walk Jadll o (8)ciaal al &dls il e i They of ¢ ad ol ( Jeli-pan-cidls i kThey <
) .Jhall 138 (b aea They ¥
walk .dsdll o (5) chaai ¥ 131
(S) .V 98 5 2hall Jolil) Cull) G jhall Aadle Ade il Cipai ¥ paad) Jelal) Cullil) i jhat) 3

A5 A5 I Laa) ) QAR g asl) o e S 138 g Jadl) iy ol (39 (2 cpllially b
, il
Lal e iy T ¢ gl ik g A1 ) 2 sandeld (4] gama (2)) QA b
Wl e e WM ¢ pan adg 4SS g) 3 ianCulll Gk (4d) paaa (B)) JU B
:Gender

:The 3rd person singular form of personal pronouns can be affected by gender
as follows

1. The masculine pronouns “he” refers to males

2. The feminine pronouns “she” refers to females
3. The neuter pronouns “it” refers to inanimate objects, or to a person or

animal not yet regarded as male or female
("?e.9.>> (“Who is it
)iomindl £ 5d) 9 Gl £ guca gall

Al £ IS (uial) £ g3 Lgule i3 3B Apadtl yiladall 3 jiall G Gyl JS

DSA el
LSS de s gt He < Jia

Euigall yraall2
L) e 2 g She < Jie
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Alaall jraall3-
(e s [t < Sl

Lalalaae
" "\JS.\"QM!U.\:J}'AMJAMY\M\‘,&“JX) UM\J\JSJULS\.\\?.\LIYUUAJ\UAM
)-ouind) £ o8 i ol Ca

ifie cfpan b ylaall jredal) addia) Eiiga gl S3a ) gaadl gl (adUAl) (S 13) i et Y s 3.
:“? Who s it” ..J st St Gl e aai 35k Laia
PErson 4 e gaiy 13 < 1 g S8 S 130 Le alai ¥ <) 9 ) (3 ey a) g gy AT i U

9 Guigall Hilads adiiad ¢ (Saall (e g cAra Slaal) sradal) adiied Salad animal A oa guady Ll
. daaia Nl B oSl g dra SLa)
The distinction between male and female may affect our choice of lexical items
(words or phrases) that could fill a “slot” in the structure of a clause

Man, headmaster, woman, actress

e.g.>> 1. He is a good
Man and headmaster can fill the slot in example 1

e.g.>> 2. She is a good
Woman and actress can fill the slot in example 2

3‘ Clals” (il jial) jualic™ dranaall 3 gidl U Ll u.b So b AN g SA) o Al
JAdaad) sl A (iR i B ) al e
(words or phrases) ...s s ks A lexical items
u\‘_m‘,.m aJud\J\w\uﬁjmumu&m kY ‘muﬁuts 13 Alaad) oLy A

ﬂﬂ‘g‘u&h@yﬁﬂ&ﬁ\&a‘#

ANl clalgl) Lgal
Jauman <
ssheadmaster <
s)_slwoman <
Aliaagctress <

s JaY) Jual)
He is a good

WM‘MJ\J‘ﬁwy‘w&Jm‘dAﬂj\&JMu\M}“‘6&)\3 A Y
i (He) 5 oSt o Glagm hand) 012 oY 1,8 (e 8 headmaster s Man paiiu 4
WOilia Glant) 13) Sl Jo 3 gay
slacd) o gay Sia (He) s &Y Lo 3525 W3Y actress s woman adddied ¢ff aakaied ¥ o8
.05 3al)
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AN JUal
She is a good

LARL) day Y1 plend] Coa § WD AN QD Dl o & 5 T3 (8 3h U da g
s (She) Y 5 &) o Ghage Gl O oY £ (e B actress s woman axidus
obebia Clac¥) 130 ¢ ELY) o agay
9 Adizall slan) o 328 e (She) oY §1L4 4 headmaster s Man awd) aladiul (Se ¥
) cusiiieS3) Gudad) (bl o Auiaal) pland) Ldlaial (e JIES A
:Note 1
The suffix “-ess” is found in a number of words referring to women, but there
are other words referring to women that do not have this suffix
e.g.>> aunt, niece, nun

:Note 2
Most nouns in English can refer to both male and female
e.g.>> friend, neighbor, cousin, teacher, nurse

ol galall (ann LA Lal*
: uﬁfi\ 42 galal).

: actress , empress Jia alsl) AT ) ikl 3 4 5 ( -eSS) Adad)
wosbeadl) ) AN cilalSl) e 220 8 aa g8 4B 038
i daadie LY Siall Lgd gii adly La o ghal el Lalina @MPress << 4als
i Aaadi LY Shall Lgd gii adly La alies Lalins gotress << dal g

:dhsﬁaﬁ\ ol MYJ;M\&!%QMS&UAQSSJ
LA aasaunt <
LAl @l gl edniece <
LARipnun <

+4 ) A3 galal)-

iy 4] i A jad) ARl Guslae 138 g claa GLYY 5 eSA o 3 gad 4 Judad¥) 4l 8 plan) alina
e caudl Guial) £ o8 aaad o Lgle
LA ¢ aafriend <
.00 « saneighbor <
) A — das) Ayl ¢ (A — a2) A ¢ (A — 4ae) () ((JB - p2) icousin <
JAalea ¢ alaateacher <
WAa e ¢ @ paanurse <
L) g eSAl o g gt 4g jalaiy) Aall) B eland) oda (S

Lg\gulggﬂ\ﬁé)‘gj\d@gﬂ‘d‘g@\wémbﬁmejyoy\hﬁ‘cbé\
,.Lads)

= A i oW d)hﬂgéé\j*
= Wegeal) srada Jg¥) ikl b 2Bl
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A dall = you 2dal) ada AU ikl 8 ad) g¥
el =you el gpada G Gkl b ad) g
= headall jSiall jrada A ol b adlg
= she i) &uigall pada GG Gkl b ad) g
= fHadall Slaal) jaad G Gl 8 ad)
= theyaeall) ylaall-Euigall- jSiall) pasa EJEN Ciplal) 8 /Bl
:Exercise

:Choose the appropriate pronoun

1. 1st person plural pronoun
a. he
b. we
c. they
d. you

LY ikl (B Al g pan e
odfiuid e gl he g (ae2) 8 o2 &
"Lkl A g Al Ada sal) ) JAIE 1)) caaa agrsaa YOU 5 they swe
O G jh-zaayou <
ab i 13 ¢ Gl G jh-aaathey <
b. Wesa i sall 14 ¢ Jgl i h-paawe <

2. 3rd person singular masculine pronoun
a. they
b. it
c.you
d. he

) G B g 3 s 5
"l g Al Ada yall ) JEEG 1Y) (SN Gl A agasas he it sthey
o 02 1) cpan AdSly GV il B ol g sessthey <
£ 55 "R g AGIEY Ada yal) ) JEL 130 3 jha LaaSs Liagf g CAEY Gijhal) B aB) g Laadis he < sit
" Lodadl
oo 1) calae AJSTg 3 jha g CAEN Cipall B Al et <
d. hest il gall 131 ¢ Sia sa g a50a g Y G jhal) L& @8l jsacshe <

3. 2nd person singular pronoun

a.you
b. 1

c. we
d. she
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i il (B g 2k e 5
a1 (J oY) Gl A dadl g silaca We <
oo 13) ¢ CEY Cijhall B Bl jashe <
a. YoU s o gall 13} ¢ 3 jda g g AU Cijhal) L 2Bl g payoUl <

What is a clause?

A complete sentence needs at least one finite, independent clause. A simple sentence is
composed of only one finite clause, so that the structure of a finite clause is identical with

that of a simple sentence.
o jlall 5l o j3dll" clause A oy 25 54 L
.(finite, independent clause -4xlaic) e aliiua 5oadsas i ) Lo JBY) o rliag S ales o

¢oaal g aplaic) e 4Aliiue goadaao@ o JEYI o (g giad o 0¥ alaiSe 4 5alaiV) 4alll L dalead) ozl
__"a\,pl.dn\Jﬁt&m}oﬁuwﬁwﬁi&é#ﬁ}"

((232)) 52,80 5 el ekai s1) It shows time, person and number ;s "3334" finite 3alS i
oAbl (S3EY day Juadilly el ) (5 ki

«* ¢! ) That it can occur own its own as a sentence : s "galicl ;2" independent 4alS Jixe*
o eaS L ey daaad ol Sy

He is a student who likes to study hard /Jt«-
Meaalge e o8 - one clause "4 >> He is a student
< iay st of (Sa 4Y ¢ Ml (g) adlaic) ye - independent” (& Bl il
"eaals e jlie 5l o8 - one clause " & >> who likes to study hard
¢ "anlde) - dependent” & < gl il
oo 4leal) olemi) Ak pual & e s (who likes to study hard) Js& o} aains ¥ 45
L(Aelaio) alaa oy 4liie alea 0585 O S Y 4Tl (51) asedall 5 cinall AlaiSa ye alead) (Y-
L (odine alen — 48 o ales —adass alen ) 18 e Jadl) g il LuSBL Ll (5,83 LS Madasual) el *
.. & 2l 5 finite clause e (s sia adawnll aleall-
finited) 5 L Ciseine 5 abd) aleall 1) kil L ¢ finite ) e Lo Caya of 2058 Lodind-
finite clause = one simple sentence®
Here are some examples of one-clause sentences:

1. | have just telephoned Mohammed.

2. He was my best friend.
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3. This is his photograph.
4. At nine o’clock, we all gathered in the classroom.

5. He always does his work perfectly.

| have just telephoned Mohammed /1JU«-
"subject — Jel@d" >> |
" verbal group - 4328 4c sexe " >> telephoned s have
O g just el
" helping verb - axclus J2i" >> have
" main verb - (slul J22 " >> telephoned
oo(Aes (a5l il g eaal 50 jle Ugd - it is one clause and it is a sentence) -
He was my best friend/2JU«-

"subject — JeWl" >> He
"verb — dadl" >> was

oalen (A ) Gl g eaalg e e o 13-

This is his photograph /3Jt-
"subject — lxiw" >> This
"verb — J=dll" >> js
coalea A gl iy g eaal g sl b T3
At nine o’clock, we all gathered in the classroom /4J%-
" subject — xiw " a5 " pronominal group — 4xesa 4 sexa " 2 >> we all
"verb — J=a\" >> ggthered
Al b il Gy 5 02al g0 e (o T3
He always does his work perfectly /5J%«-

"subject — Jel@l" >> He
"verb — J=ill" >> does

oalea b gl ity geanl g sl & T3 Lal aal g Jad 5 aal g Jeli Ll
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Each of these one-clause sentences has a subject and a predicate. The predicate is what is
said about the subject.

iode g sind Jeall oda e o i JS*
"lxie 5l Jel" subject-
")) sisdl" predicate s-
.o deldll e Gaaty L s predicate -
He always does his work perfectly :pselall JGall & Jus
"subject — JeWl" >> He

5" He el ) aine (o) 44l viss — predicate" s o222 L JS >> always does his work perfectly-
M4z Jadll Jedy predicate d of )" Lay) Jadll Jais

At nine o’clock, we all gathered in the classroom &/l Juall &
" subject — i " >> we all
" we all i) ) e g) 4] 2ie — predicate” >> sa Jiall e i L S
predicate J ;< 3> s (At nine o’clock) 13-
predicate Jl ;e ¢ 3 Lail s (gathered in the classroom) s
predicate J) i ¢ 3> La) 8 (gathered) J=d) s

If either of those two parts, subject or predicate, were missing, the sentence would not be
complete.

However, in an imperative, the subject is usually unstated.
e.g. Go study.

When the subject is missing, we assume that it is “you”, the person or persons spoken to.
The previous sentence can be expanded as follows:

You go study.
. 4l maai ) alaalli 5 gide (predicate s subject) owiad) aal S 13-
.. (predicate s subject)}d) 2sa 5 (3o Y 4LdlS alea L) 131 13-
(unstated- z s st 5l Olae ) s Bale Jeldld eVl drpa 8 oliiul ollia (S5

aleall (expand — g s5) Loyl LiSay 5 aleall 3135 g da sga 4] Al @ Y 5 Jeldll SN Y as 3l
LAl el Jeal

sJGa Jass e
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..l & Winpa 4lall 22 >> Go study
Y o pualaally lali jS3 >> 18 Jaall g1 o5 S3-
Statement -1
Question -2
Imperative Lyl eX 3 >> Command -3
Exclamation -4

Jaall ¢153 (e & 55 58 Command sl Imperative 13-
..(which normally we don't states the subject in - le Jellls 7 i Sale 1 5)

.(that it means you -l clia; 43f) << (assume -ua=l sidl) LiSa oSl -
ol g 3 sealall o) alaind 5 gite Jeldl (S 13 Jay
IS (expanded — Jaaiily alktic oL 5) o WiSe Gl JUid) s
You go study < J 8
..Set down ) Stand up ' Go study < Js& Jasd ¢ <lld J 48 Y i edlall 4 o<1 5 Jeldll ga Lia >> You
oY) Aaga 3 el SN Y e A
The subject of a clause is a noun phrase. The predicate is a verb phrase.
Every finite clause has the following basic structure:
NP (subject)+ VP (predicate)

The man bought a new car

LBl Ll A8lad) <l yualaall 8 (05 )S3 LS g¢"4gand 4laa 408" el o jle 2 clause ) 8 il 5l Jelall-
oo Sl el o Ll

CAaled o e e predicate ) JS T3 ¢"aglad alea 408" 4gled o e 2 predicate J) s
salill 4l sacldl iy finite clause JSs -
NP (subject)+ VP (predicate)
Clxiad) 5 Jeld) a5 NP-

Tl )l Jeldll ) Siasal) 585 V-

The man bought a new car:Jull JEall 3 LS
. Al o jlie (g NP sa <8l iy 5 Jeldll 58 >> The man-

.4dzd o jle (o) VP sa Ci gl Ludly " The man” deldll ) v 98 >> bought a new car-
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D okaladtinl a1 yp*
.. JSS "predicate — 4l diwall" e Gaadll 8 aadiey -
."verbal group — aaladll Gile ganall™ e Chaadll & PREGHIR: P

.. IS "predicate — 4l diall” o Caadd sliaadinl JUall 13 8-

4idxdll » JLall The Verb Phrase (VP):
The verb phrase (VP) consists sometimes of a finite verb only.
e.g. We all waited.
More often, the VP consists of a group of words (verbal group) with a finite verb as its head.

For a clause to be finite, there must be a finite verb in it.

¢ Magladl) alaall 4niauladll o jlall e il slaall (any 330

..(what the verb phrase consists of ? - $4al=dll o jlall 4a (5<5 (S L)
.. haié 2 5 finite verb e s sisy >> VP-
Dl gsiag B VP -
verbal group - one finite verb Wl -
We all waited :Jall JUall 8 Les-
"sxaa - finite" s» Ll 5 Jaill ;2 >> waited
LG 2 finite e s Le oS J st s
."finite verb — 2354 J=i" e (s 5iai "verbal group - 4ddxdll 4c sendll” 5
..J8 (e head I LSS Laxie ()5 S35 caddaill 4e ganall "the head — ol UM 58 2354 Jadll L -
: verbal group JI 8 13/ -
.. finite verb ) 443 4 head -
.. (clause ) & ) 44 finite verb 2sa 5 0o Y 23ak clause ) zaad 13-
.. finite clause L 058 of g 4l alaa @) 131

.. finite verb L 055 of s finite clause <) 13-

E avnals aallls oK1 dlinaa zodlla ey call aal jag A



The verb can be either:
1. Simple
A simple verb consists of one word.
e.g. is, was, walked, sat, did
2. Complex
A complex verb consists of a verbal group.

e.g. have telephoned, were placed, were waiting, did not like, could see

Nina -2 Lo -1 sl ¢S 38 Jadl)
bpedl -1
ool g 4alS ge o jle 1 dapd) Jadll-
is, was, walked, sat, did /Jis-

adaanad) JledY) Lerans culalSY) o34 -

daagll -2
.. (A;Udajw)isié\)c\:dajmwcpwgc s damall Jedll-
have telephoned, were placed, were waiting, did not like, could see /Jis-
A e et — Ja 5 51— aelie Jad Ll 4gladll Cile ganall sda B Ligd-
have telephoned -
2elua J=8 >> have
=) J2é >> telephoned
.. Ja&I Jadll () (full verb) s& 5 JAT camas (main verb) bl Jad) ans of LiieUaiuly -
were placed -
2o lua Jad >> were
bl J=8 >> placed
were waiting-
2o lua Jad >> were

bl J28 >>waiting
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did not like-

el J2dé >> did

b Jei >> like

4alad de ganal O 30 J=8 58 >> did not like-

could see-

acba J2d >> could

bl J2d >> see

sadas yall A o23akll JiYIFinite vs. Non-finite ((Verbs)):

Finite Verbs:

Finite verbs show tense, person and number.

The verb “be” in the following sentences is an example of a finite verb.
He is here. They are here. (person and number)
He is here today. He was here yesterday. (tense)
s023a k) JladY) Cay o
ool gl g3l U I ) jelad
r0sSs 3 Cmy e Aals (e 003adll JladY) e i) i
Jifiaa - g Jbae - o=k -
[0S 8 Cua e 3 Bals e
Aliciyh- Bash- J k-
D OsS B Cua a 22al) Al G
g e
A3l Jadl) e e g 4l Jeall b (43530 Jad) “be” Jaill*
1058 3 (be) dadl) o << agils daglaa giSall J g8y >
is, are, am, was, were
past participle << been Ly
s 3adll Jadll e JUaS 43 5l Jad il (o aleall oda b (o yia

. is‘\j}.'\:\ﬂ\dzjhi‘\_ﬂl\ ¢l Gl a5 3 y8e Jeldll >> He is here-
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. are 435S0 Jad 32013 ¢ Gl Capla 8 5 aas Jeldll >> They are here-
< oflaal b Jelall aanll 5 a5 G e WY s (be) 435Sl Jad o) s Laali ) 5
.. finite verb sed 2l 52 &l e Talaic) Jadll s 131
.. is oal 455l Jad 5 pmlall (e & 4leall 220>> He s here today-
.. Was geal 4358l Jad 5 calall (4a ) 8 4leall 238 >> He was here yesterday -
Lol Lie aliaY) e allal) da A
Ll ol 5 el o ade 53 finite verb 1 -
Finite verbs can have three forms:
1. The base form (simple form) of the verb
e.g. walk, talk, drink, speak
2. 3" person singular form of the verb
e.g. walks, talks, drinks, speaks
3. The simple past form of the verb
e.g. walked, talked, drank, spoke
;&\)ﬂ 3l s23a ) Aladyi-
oo Gl (Jaead) JSAN) ) JSE -1
cosn WS Jaill L ((—ing s sl —ed 05 ) Clilial ()53 Jadll sa T
walk, talk, drink, speak /Jis-
o Jadll ) oY) SN e aliad LSl o3a S -
L Call 3yl N ol Faps -2
oo () 385 2l N Gyl Aedle 4l Cilina Jadll () sSpus Lia-
walks meai << walk /Jie
- (E el paalall (a3 3 AN CayLall b a5 3 jie Jeld il () S Ladie Jadl) e (s) aadlall oda Cauai s
talks zwai << talk
drinks sl << drink
speaks zuai << speak
il ) bl daus -3

1055 3 Jadll () oy lagen adally 5
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aitia it - el -
—ed 4l laal >> walked << walk /Jie-
—ed 4 Ldal >> talked << talk
o ealall ey Ala Y LS e Wil 5 —ed Legd Lidiald dalatiall Jlad¥) (e Lad Okl ()38

drank >> drink
spoke >> speak

eaball ey Ala 8 LeglSE yiaid adaiig yaall JadYl (e Lea GJadll ()la -

Exercise:
What is the form of the finite verb in each sentence?
a. base form b. 3" person singular form c. past form
1. The manager talked to the employees.
c. past form s lsall 13 ¢ J2dll & (ed) 29a sl (oalall ) (B 52 5 talked 5o J=dll-1
2. He drinks coffee every morning.

131 3 ye s oyl @y Judll o LaaS Lyl 5 () 2_iall Callill o phall Aadle 35 5 133 5 drinks s J=ill-2
b. 3" person singular form s <l sall

3. Ahmed and Khaled usually study together.

G(S) J)é,d\ i (] u#‘hk“hﬁyi“‘“\J(ed)“hﬁ\f‘u‘h%;studyﬁ Jxdll-3
a. base form s <l sall 13l

4. | went to the mall yesterday.
c. past form s @l sall 13 ¢ go (ol Jadll (1o palall Arpa 54 5 "alatia je Jad 8" went s J2dll-4
5. At eight o’clock every morning, my father goes to work.
22kl G Gaylall K5 s 5 goes s Jadll-5
b. 3 person singular form s @l sall 13} ¢ Jadll 4gs es Lial goes << go
s32ak Ll J=8YINon-finite verbs:

Non-finite verbs do not show tense, person and number. The verb “come” in the following

sentences is an example of a non-finite verb.

e.g. | expect him to come soon. We expect them to come soon. (person and number)

He is coming now. He was coming at the same time yesterday. (tense)

0adah pual) Jlady) dddlie ) Jitiie-
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L) g a3l 5 (addl) e S350 (e23al]) JladY) o) finite verbs ) of Lidde 13-
..Non-finite verbs e oS3 Baw L Slaall-

Lé‘;g“;;@j;uﬁ);muw}uuam\ﬁh@g)@y&mdww@;oﬁ;;ﬂd\dwy\_
(2

a3k ) Jadll Jle Qe 43l aBeY) 3 “come” Jaill-

Laall gl a3l o ad Bl U e o) s i Y eadak ull Jlady) Tl

| expect him to come soon/dJ-
We expect them to come soon
rdeldl) i i) cleal) & Jaadle
(1) I Caphall 8 adl g o i Jeldll >> oY) alaal) 4
L(We) S Caplall a8l s pas Jeldl)l >> 4l aleal) 4-
L3l paddll 3R AN 5 Non-finite verb 4Y sy s LS i gileall SIS i “come” Jadll -
He is coming now/dJGs-
He was coming at the same time yesterday
Loe J;":‘-’ ia i Y "coming” Jxll-

(g Jbadl) palall ey 8 138 >> (He is coming now ) (o sY) aleall &-
coall e ) 3 1>> (He was coming yesterday ) 45l aleall i -
.. Non-finite verb s "coming" Jall 13l
(be) 4355S0 Jed I bl o9
(is) Yl alaal) &

(was) 4l aleal) &

..(is — was) "finite verb - 23ak (23" 58 435Sl Jad 13)
Non-finite verbs can have three forms:

1. The infinitive

The infinitive has the same form as the base. It is often preceded by an infinitive marker

”

”tO

In some cases (e.g. after modal auxiliary verbs) the infinitive is bare (without “to”).
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For example: | am waiting for him to come. (Infinitive with “to”)
He can come tomorrow. (Bare Infinitive)
2. Present Participle (also called —ing participle)
e.g. walking, talking, drinking, speaking

3. Past Participle (also called —ed participle)

e.g. walked, talked, drunk, spoken
soadad ) Jad¥) jaa o oyl
:‘)L.a.d) :“-"—..‘-‘4'1

() JSE) 4pulul) Fapa uii 41 jaad) daua
.. ($orad! J=dll -The infinitive verb) J 5 a5 Haadll Laaa Ladle o (to) dalS-

) 4xy pall — bare) e Jradl dava (Mauxiliary” eacbuall Jd¥) (azy Jia) YW (g A-
..(t0) AalS alaall & 5 A1 1) (52 yal)

(t0) Csx ad) oo s je s bare infinitive I 13-
C oSS B aead) Aasa T
to &= infinitive-
358l yadll ol peall saadl ) Bare Infinitive = 5 >> to 05 infinitive-
| am waiting for him to come /J%s
.. to &= infinitive s >> to come
. Jadll Lyl (K31 8 131 ¢ (Base Form) 4l 4xua s >> come
.. (coming) zwall << —ing & ciuzi Al 5 ¢(came) guall bl (o) 8 (U Al aleall 020 5-
.. to O infinitive sa s Jxdll to Lld 5 come 13-
He can come tomorrow /J%s
. "auxiliary verb " << & can L Ll
:¢la(come) 52 can 2 J=dll-
"asulul 45sa - Base Form" |
(3355 — finite) oad 58 13 " Jaas dasa — Infinitive"-—

.. | come here every day < 4leall 038 & (come) 4alS! 4liia ud 58 -
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..(333% — finite) s> come >> (I come here every day) 4kl o2 &-
¥ " jaas dipa — nfinitive" sls come ¢4l alaall 8 Lol
.. can << s 5 "auxiliary verb " = (-
;0¥ "3yae 5l my e ydas - Bare Infinitive" (s s
. (t0) AulSs Bl ol Jadll -
. Present Participle-2
.. (ing-participle) = Ly e 385 ¢ (<ing ) 4l liliae Jedll 58 5-
walking, talking, drinking, speaking /Jie-
..Present Participle == (—ing) 42)) ilias Jad i 13-
: Past Participle-3
... (ed-participle) Loa) (o 3 5 Al & pualaall (10 oS Cagl3a s 5-
ekiiie Jedll 138 S 13) Ala 8 —ed Al Ciliay ol a3 o Jad OS 13-
L laglSE e Al 5 (-ed) Legd Libiald laliiie (Dlad Laa >> walked, talked /Jlie-
o laglSs ya olalaiie e (Dlad Laa >> drunk, spoken L
(simple form) Base Form >> drink 13-
finite > Past Form >> drank

non-finite > Past Participle Form of the verb drink >> drunk

(simple form) Base Form >> speak
finite > Past Form >> spoke
non-finite > Past Participle Form of the verb speak >> spoken
oaadl ol asdll o) e 3l 53 o e Y>> drunk, spoken®
Exercise:
Decide whether the underlined verbs are:
b. non-finite a. finite
1. He was able to walk after physical therapy.

$edeldl) L Ladie yuaiw Ja >> walk-1
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walk d=ill i o) s da . He Jlx They L -
They were able to walk :J séé--
. "finite verbs - ohise (Dad" L were s was oY « were Ciauald was Ui U k-
"non-finite - siae 5" s 13 ¢ s LS iy walk dedll of aadl -

b. non-finite sa Gl sall 13 ¢ paddl) §f saall ey sty ol sgi-

2. He is making a chair out of wood.
98 Caaau 13l Jelall Wail o >> making-
They are making a chair out of wood :Js&é-
.. "finite verbs - ¢laiae (Mad" L are 5is oY ¢ are sl js Ui Lol La-
b. non-finite s <l sall 13 "non-finite - 23se 3" 58 13 ¢ s LS iy making J=dll o Lasd-
3. He made a chair yesterday in his workshop.
9 Gan e Lia 4giall o3l yi2s 5l >> made-3
He makes a chair everyday in his workshop :J sai-
o s Jedld a3l U ye 1306 g, finite s ool sad) 1) e 3l Ganey Jadl) 5325 a8 Slad i Laal-
4. You should spend more time studying.
¢ Gaangn Bl Jeldll Wl >> spend-4
They should spend more time studying :J s&-
He should spend more time studying
| should spend more time studying
..(should) & 5 "auxiliary model" 2= sla 43Y dai J3x3 ¥ spend dadl) of Jaa D
b. non-finite s <l sall 13 "non-finite - 33as 3" s (should) 2= sla 3 spend J=dll 5-
5. They spend time together every Thursday morning.
99y Ja € Caaas 13le Jeldll Wi 1 >> spend-5
He spend time together every Thursday morning
LRl | aal
LAl oda b o jdall Gl Caplall JS Leadiad Ll JaaDle

a. finite & <l sall 13 ¢« "finite verb - 23sa Jad" 5ed i Jadll Y 5
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sdaa il am eadadll o jlall i o jadllFinite vs. Non-finite ((Clauses)):
A finite clause is a clause which has a finite verb.
e.g. He is waiting for the headmaster to come.
The previous above example has a finite verbal group, “is waiting”.
oY) Al lae 5o pualaall ey 8 Tl ol S5
Laiaa Jad o (o gind e i o teadaa) o ) gl o i
He is waiting for the headmaster to come :JWdl Jaw e

» Bl ey g (is waiting) 2 s "finite verbal group — saiss 4gled 4c saas" e Jie 58 oMel 585 Le-
."finite clause - s3aa sy i 5 jlc"

¢ oanl g oadaa o 8 gl o jlc 5 oaaly saiag 4ided Ac gana Lia Ligal 131
.. (One finite verbal group & One finite clause )
.(is waiting) (s 33 4ilad 4c sana o (5 53 LY sadna 4ddad o i 4l o e & >> He is waiting 13-
: O 21w " finite verb" Gle siisy o s finite clause of je 3l
(finite verbal group s One finite verb )
A non-finite clause is a clause which does not have a finite verb.

In the previous example “for the headmaster to come” has a non-finite verb “to come”, but
does not have a finite verb.

At least one clause in an English sentence must be finite.

__.Ji;ndxjéﬂ;g#yg\oﬂ\@:ad&ﬁﬂ\aﬂ\}ia)\_.\’d\-
..(non-finite clause) sed 23ae ye J=d Ll 5 adaa Jad Lual (S5 &l 13) Tl
for the headmaster to come /@bl JEal) 8 -

- oddna ye o o o jle" cla ia 4815 (to come) Jadll Luals ¢ (the headmaster) s» s Jeldll Lual -
0" e s dapa e el 43l ) ((Infinitive with "to" ) a5 s¢d « " non-finite clause

drd e g5y Y (S 5 (to come) st s 2dae e J=d e s siay (for the headmaster to come) 13-
.." non-finite clause - s33xa & o )i sl o ™ 58 ) 13g] 5 33aa
I

:Qﬂg}'ﬁa|

a finite clause A e 3 550 13)

E avnals aallls oK1 dlinaa zodlla ey call aal jag A



a non-finite clause — afinitgverb-

--------- 1
[ Sl s aly
a non-i

coadae JBY) e saal g i (063 o) camy << 4y el 4alll i*
finitesaliaa ol sda 55 O cang 5 JIY) e sasl s o e g siad o caag << alalS ales L) 1
Simple sentences consist of one finite clause.
e.g. Heisastudent.
.."One finite clause — s2a) 5 03350 o 8" (10 (cOnsist — <alldy) adapusdd) Jenll-
He is a student /Jie-
."finite verb - s3aa J=i" 58 >> s -
.Adass alea 538 13) ¢ "One finite clause — saal s saiae o 8" Ll
.. 4has alea U =55 One finite verb & One finite clause 13-

Compound and complex sentences consist of two or more clauses with at least one finite
clause.

e.g. Heis waiting for the headmaster to come.
.."two or more clauses - S5 sl 058" (e (consist — <alliy) saiaall 5 48 Hall Jeall-

bl 238 (e sl 5 65 Of a0 8 (e ST e (55t 1A oy 38 e (e saal 5 JBY) e
."finite verb — s3as J=3" e (clause-e_idll) a3 (s siai o ) "finite — eaisa"

He is waiting for the headmaster to come /JU-
.."finite clause — s23s o j@" & >> He is waiting-
.."non-finite clause - s33aa 2 o &" & >> for the headmaster to come-

aluas cadl 1315 > (is) 52 5 e finite verb a= finite clause e s sisd LY 4laiSa alaall o34 5-
.."finite clause"

Verbal Groups
aaladll Cile ganall
Verbal Groups :
Verbal groups can be of five types:
Type 1 Modal +Infinitive: could see, will come
Type 2 Have +Past Participle: have telephoned, has begun

Type 3 BE +Present Participle: are coming, were waiting
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Type 4 BE +Past Participle: is grown, was broken
Type 5 DO +Infinitive: did not like, Did you know?

& lee Cuaall W Gaw S (Verbal groups - 4adll Gile sanall) e Wiaa JaSiu o jpualsall oda 8-
4;_1\)}\ DJA.A\AAS‘

s o)l B sS3 a8 agladll e sanall-

Modal +Infinitive : Js¥) g si)*

tst s ¢« s Ll <3 )l Modal Auxiliary J1 s S

.(Infinitive - )xadl) agdl s can, could, shall, should, will, would, may, might

o palaall pe Slld 4 SN ?LS 13l (Bare Infinitive -A&)é:d\ JA.\.AA” B @J.\AS\ JA.\.AA”) e allall o2a s
«(an infinitive without "to" ) s (an infinitive with "to" ) LSy cagilud)

.."Bare Infinitive" = (The infinitive with "to")
Modal +Infinitive :Js¥) ¢ sl e Jbie-
could see -1
Modal s >> could
(Bare Infinitive -3)aall jaadl ol zu pall jaadl) @ >> see
.. Modal +Infinitive Lual Ua 13-
will come -2
Modal s >> will
(Bare Infinitive -3)aall jaadl sl 7y pall jaadl) s >> come
.. Modal +Infinitive Ll Ua T3
. 4aladll e sanall J Y1 g gill anilly 1aa-
Have +Past Participle : &l g sili*
Had, Has, Have : (s -
have telephoned -1 /J%«-
.."telephone" J=4ll Past Participle 41 s# >> telephoned
. plaiie 2t a¥(—ed ) La¥) Jaill o Lideal-
has begun -2

b ddll JS5 s 1A alatie e Jad sa "begin" Jadll «"begin" J=dll Past Participle 41 s >> begun
..Past Participle J 4
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.. (Had, Has, Have) + Past Participle 13-

(pie e ol alitie o a) Jadll g 55 o ey olls

BE +Present Participle : &Il g silf*

(—ing &) lilas J=ill 5a 5) "non-finite verbs - 23as il Jedl" 3 JUS (el Present Participle LS
..(=ing) Jadll Jle Cauxi Present Participle Jl s i of !

.. (finite verb -23s« J=i) s 5 "is, are, am, was, were, been" st s (BE) 43 5ill Jad Ll T3l
.. (finite verb -33sa & J=3) s Present Participle J s

are coming -1 /JU-

(BE) 435S J28 >> are

(—ing) 4 “ilias J=dll >> coming

were waiting -2

(BE) 43518 =8 >> were

(—ing) 4 wilas J2dll >> waiting

el e sanall il g il 5 1

BE +Past Participle : &I g $d1*

is grown -1/JU-

(BE) 45538 Jad >> s

"grow" J=ill Past Participle 41 ¢ >> grown
was broken -2

(BE) 435S J28 >> was

"broke" J=ill Past Participle 41 s¢ >> broken
. addadll e ganall il ) g sl s I3a-

DO +Infinitive : gwalad) g i)

ol 5l jadil" L33 (finite verbs - eaise Jlxdl) & 433 J=iY) s2a¢ (Do, Does, Did) ¢S5 8 DO -
.(Infinitive aadl ) agll lilas "axall 5 450 3

did not like -1 /JGa-
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DOl s >> did

(Bare Infinitive -3)aall jaadl oz pall jaadl) s >> Jike

:Bare Infinitive I 14k sale*

.. "Modals" 2 b -

"DO" 2y b 8 5

Did you know? -2

DOl pslall 4xpa 54 >> Did

..(Bare Infinitive of "know" — " know" J=ill 3534l jacadl ol oy pall jacadl) 8 >> know
el e pamall a5l sa 3a-

The first four types can be combined with one another to form more complex verbal groups
like:

Ahmed will have finished that book by Friday. (Type 1 & 2)

He has been learning English for four years. (Type 2 & 3)

He will have been learning English for five years by next October. (Type 1, 2 & 3)
The president could be seen by everyone. (Types 1 & 4)

He is being called now. (Type 3 & 4)

Sl (e \A\) "combined u.uS):a" |5 <o o peiSay (@Il &N ¢ SN (J 5Y) g ) ‘_‘,Jjﬁ\ 4 Y &\}\Y\_
)ﬁ\e@mu\hﬁmuﬁjamdu(mdmm) \M}S\M\ub}@\mhm@mﬂ(um*s)ad
(o a5 VA (e T

Modal +Infinitive s& s J ¥ & sill Ulay 5 =1/JGa) Jas Ae-
Have +Past Participle s& 5 Ul & sill e

Ahmed will have finished that book by Friday -

A g il da g se J ¥ & i) > will have finished

a5 Gadtll o el i e 553 Y (Infinitive - )xas) & 4llall 238 3 "have" >> will + have
L (O g sl 1)

Have +Past Participle = ( & g sl sa 1) >> have + finished
. s baghy y aie A 5 JsY1 g s G (combination — caS ll) W g s JUall 1aa T
Have +Past Participle s& 5 Gl g sl Uik, -2

BE +Present Participle s& 5 <& & 5l aa
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He has been learning English for four years-
LAl e gl b g e SG) e 53l > has been learning

" finite — 233<"< has sla (S ¢ 5l 58 138) >> has + been
."Be" L) Jaill (e 353k (been) Past Participle+(has, have, had) o< 3

..been s "Be" Al Past Participle 13-
(Gl g 53l 58 13a) >> been + learning
"Be" J=ll Past Participle ) s 5 (Be) 4351l Jxé >> been
.. (-ing ) 4 Gilias J2dll 1 Present Participledl s >> learning
Lol g e sl S L e gy JU 13a T3
) JEa) 8 LS ¢ il 3t L i<y -3
He will have been learning English for five years by next October-
L SN 5 Y g ) G S I 1
Modal +Infinitive s 5 Js¥) g sl Lk ;-
Have +Past Participle 55 S & i) ae
BE +Present Participle s 5 Gl ¢ 5l aa
(s g 5 e 138) >> will have -
Modal Auxiliary >> will

(Infinitive -_xadll) >> have

(S g s 58 13a) >> have been -

sacal) L;% "Have" A sa >> have

"Be" 435Sl J28 (1« Past Participle 4 s» >> been

(& & 8l 58 138) >> been learning -

" have" - il &Y (been) i 5 waclill Li"Be" I s >> been

cAdadll Sle genall e QU g il U g gaatl 45531 Jad 22y Sels ¢ Present Participle s2>> learning
..(into one complex verbal group —sixe saal 5 43lad 4c gana JNI) Gl G 5 J5Y) g i) Uiy 5

Modal +Infinitive s s Js¥! & sl Ly ;) JOall 138 3 -4
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BE +Past Participle s2 5 &V & sl e
The president could be seen by everyone -
could be -
Modal Auxiliary >> could

"t0" AalS Lgluw ol 5 ki ol " pe" of Jaadl s "Be" 435Sl Jadl Infinitive Uil dxua La Lual >> pe
(Bare Infinitive - zw all Haadll) o 13

be seen -
4 sl J=é >> be
Past Participle of verb "see" s >> seen
L&V I g sl (Sl U gy JU) 13a-
BE +Present Participle s& 5 &l ¢ gill Ul ) -5
BE +Past Participle s &l & il aa
He is being called now -
(&U g il g8 138) >> s being -
(Be) 435Sl J2d >> s
being =(—ing ) + (Be) ¢! « (—ing ) + J=&ll 54 5 ¢ Present Participle ) 4 >> being
(&N g sl s 1a) >> being called -
"is" o Gabs 4Y (—ing ) 4 lilias cla L (K15 (Be) 435aS Jaé >> being

Past Participle of verb "call" s >> called

All such groups are formed in the order 1, 2, 3, 4, as follows:
4 3 2 1
Modal + (Have +Past Participle) +(Be +Present Participle) +(4Be +Past Participle)
Dl LS 4302 il e ¢ ilal il Cle sendl S-
4 3 2 1
Modal + (Have +Past Participle) +(Be +Present Participle) +(4Be +Past Participle)
)L il 08 el g sl sl e N Gl e i) gl e Y1 J S g il Jea of LSy Y 131

Gl + S+ Y e sl S+ SV ) e e ) e )5Sy o cang Gl 5
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R I 5\ R S P I\ g PP

.. (Rule of combination —La il 5l (. sl sac8) ¢ <5 1388 Lagf 5 () 100 48 Jlall o3¢y

t QUK 4362 1 oS of & Y sl -

Js¥ g sl >> Modal +Infinitive -1

4l g il >> Have +Past Participle -2

Al & gill >> BE +Present Participle -3

&)l g il >> BE +Past Participle -4

(4632 D) il s i o e Y ALl aBieY) 8 Ulad LS (any we €5 day 5 o Ll 131 T
Note 1: The meaning of the verbal group is contained in the last word.

e.g. He has been learning English for four years.

.. oY) 4Kl ‘_,,J ( contained -J)h" ) 4dadll ae ganall Jixall 5 J oY) ads galall
.. ( Lexical meaning ) = =5 3 5 caladll de sanall 455 o 3y 55 Lal inall llas o ¥ 4l T3

He has been learning English for four years /J%s

alaall oda 3 Lo adhh g (505 s) "Function" Jaié agdl caleall sda 8 aa (_5\ I &Sl Y >> has been -
(e agda )

( Lexical meaning -easall Sixall dllai ) s ¢ ind) dllai >> |earning -
ol e sl Ml L (adld" e h3a o las
oY) AR (e 35 5 ailadll de sanall b inall T3

Note 2: Only the first word of a verbal group is affected by person, number and tense. The
first word is what makes the group finite.

e.g. He has been learning English for four years.

| have been learning English for four years.

They have been learning English for four years.

il ads galall

Lol g aaed) g et Lo [E5) addadll de senall (pe 5V Al Jai

... (finite —e23ak) & sSis 1 5V) 41 4led de gan Ll S 13-

.(finite —s23a%)< 4e senall g Jand Al L 4ddaill 4e sanall 8 (V) Juill (51) 5V 40 Ta-

He has been learning English for four years -1 /J%s
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.(finite —s23a%) < 4c sanall mran J2ma ) 8 5 (finite verb — 33as Jx8) 58 >> has
" had' s (Y dadll 1) (Y1 4all e o gay Juadll g oadad 4gled dc sena Lia Lnal T

| have been learning English for four years -2

L JEl 138 4ladl) e sanall 8 3 g2 sl 8 "have" of el ) ) -

<"He has" << d‘jy‘ JGal &
“u haVe“ @mij ‘);,_'] Lﬁﬂ\ }A LSS n haS" Ui LIL;Y " Ill ‘f‘;‘ " Heu &m\ L").-,\Q Ledie

..(Non-finite —s23ak 1) < legie I Y Laa LS Ui (learning 5 been) -

¢ Past Participle s» >> been -
..( Non-finite verbs -s23se juall JedY1) diva (s3n) & " Past Participle” 4 of S

¢« Present Participle » >> learning -
..( Non-finite verbs-saiaa il Jixéll) iisa s3a) & " Present Participle” J o} S

(finite —233%8) 0585 3 am gl g J V1 Jadll G Sld (g s fal-

They have been learning English for four years -3

.. s Al sa "have" -
They have csual << He has-

.. 1w Al been learning-

.(finite —sa3ak) 4gledll 4c sendll ran Jxa 53 2 L Y1 Jadl) fal-

"has' 23 Al Jedl) o 3 gy Juail) 5 o0iak 4yled 4 sane 2 (has been learning) ob Jsill apdaias 131%
. Alail) e penall 8 el ) Y1 AdS)) a

Exercise:

Choose the correct order for each verbal group:

1. a. have seen could b. could seen have

c. could have seen d. seen could have

L OY) G O s LAl L (b, €) of e sd el LAY s2a & Modal ) ge daasin -1
(Past Participle) ¢\» "seen" La >> b, could seen have-

" have" b >> c. could have seen-
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«(Past Participle) 08 b " have" o W@ Sy Ls-
c. could have seen s» allall o3 & masaall Gl sall 131

Modal +Infinitive < Js¥) g ¢l Lilay ;-

Have +Past Participle < S ¢ il s

2. a. have should been doing b. doing should have been
c. have been should doing d. should have been doing
L LEAY) 238 (8 Modal Il oe st -2

(d. should have been doing) s 4uly & "Modal" (e (s sing 3 a5l Gl sall o Jaadli-
should have been doing -

Js¥) g sl >> should have -

"Modal" s >> should

(Infinitive — Jx<as) 4 >> have

Ul ¢ 8l >> have been -

" Have" s >> have

(Past Participle) » >> been

&l ¢ il >> been doing

"BE" 435Sl J=8 g8 >> been

(-ing + J2dll) 5! (Present Participle) s >> doing

3. a. has been studying b. studying has been

c. been studying has d. studying been has

. (Have +Past Participle) sa 4l (& ady S ¢ il e Cinin 13 ¢ a0 ¥ Y Sla Modal Wl Ja -3
(a. has been studying) JLaY! 8 Wlas s ¢ (has) s " Have" JUall laa 8-

has been studying -

Sl & il >> has been -

" Have" s >> has
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(Past Participle of verb "be") s& >> been
been studying -
"BE" 435Sl J=8 g8 >> been
(-ing + J=dll) ¢! (Present Participle) s >> studying
. abls 4yl (b, ¢, d) Allall o2 3

Verbal Group Types

aladll 4e ganall ¢ g3l

ol Sl (S SV g sl zan s il aali HS3 cagladl) 4 ganall £ 5 (e g 58 JST (3 platin Y1
L Jeadill e Qs agia aal s JS 2l (Y15
Type 1 Modal +Infinitive :

e The main verb which follows a modal auxiliary will always be in the bare infinitive (without
”to”)_

e.g. can see, could see

¢ Modals are not affected by person and number.
e.g. He must know how to speak English.

They must know how to speak English.

e All verbal groups beginning with a modal are finite.
:(Modal +Infinitive) s s/Js¥ & sl - lasiu-

Jadll 138 Baw o 153 (e ) (Bare Infinitive) Lila ¢ 5< Modal Ausiliary 3 g 3 (ol Jadll -1
_”tO” us

-
7

\\
hoo 2 % . el . . o . £ 4 . .
. “t0” = G ) 05 (Bare Infinitive) s» Jxdll 134 ¢S Modall xS daé gl v - sa3l )

~ -

~_-

couldtosee ' cantosee << Jsill &liSa ¥ /Jla

couldsee ' cansee << Jsll el (S
. 30%a 5l e saae 4l ) (Bare Infinitive) s " see” (el Jadll La-
pea )3 s> aaall 5 (el < lede i3 Y Modal ) -2

lede i3t Y Modalsdls cpall 5 a2all 5 Gaddlls agile 533 (finite verbs — sxisall JdYl) of i LB-
Aualid Alls 03gb (finite — sadak) el (81 5l 5 padally

m-m==a

ssall 5 oty Lo 55 Y Leld Auald 4lla Ciols U " Modalg' ) of {2 el )

~ -

~_—-
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.(finite —s23ak) Cela LSl

He must know how to speak English /Jis

They must know how to speak English
__JM\;M\U#&&@;MM\U&S&;&%A-
He must know -
LGB Gkl B a0 jie Jeld 8 >> He
o Oa b b aaall o padall iy i o] o8 WS iy g 4ilad 4c sana A >> must know
They must know -
LUl okl Ay aes Jeld 8 >> They
o Oa b b asal o padall i i ol (o8 WS iy g 4ilad 4e sana A >> must know
.(finite - 5335%) 24 Modal = 2 il 4uladll e ganall S -3
(finite -533a%) 15y i€l 5 a3l 5 3al) 5 (el Lo f5) ol adledll e panall o3 of cmaa-
Type 2 Have +Past Participle :

This type is an expression of the perfect aspect. “Have” is used as a helping verb (auxiliary
verb). The helping verb “have” is finite and changes according to person, number and tense.
For example:

He has read the book already. (present perfect tense)
We have read the book already. (present perfect tense)

The students had already gathered in class when the teacher entered. (past perfect tense)

:(Have +Past Participle) s 5 /) g sil
..( perfect aspect -"»Ull J2dll Zapa" Ul cuila) A ((expression -_wad) s ¢ sill 13a-

(The progressive aspect s The perfect aspect) e 4&budl 4 )38 o ) sall (8 o gl )3 Le (55 S35 23S NI
pilial (e

(The Past perfect s The Present perfect)
LS g sl 8 L el L Jis (Have +Past Participle) = ¢ b "The perfect aspect” -

.. (S ¢ 5 = The perfect aspect ) ol '
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..(Auxiliary verb -2clus J28) < 23353 " Have" -
Lol sl aaall o Gadill i S adl Gk ol B S5 > (finite — 23ak) 58 "have" aclud) Jadll-
(Present perfect tense) =X s 5 >> He has read the book already -1 /JUs-

(Present perfect tense) =2 s# 3 >>We have read the book already -2

ool 52l Gy s

=4 s 5 >> The students had already gathered in class when the teacher entered -3
.. (Past perfect tense)

" Have" J oald) dasa 8 " had" 5 ¢" had" Leasin) 13 ale els a3l 138 > (e 30 Canesy i
Type 3 BE +Present Participle :

This type is an expression of the progressive aspect. “Be” is used as a helping verb (auxiliary
verb). The helping verb “be” is finite and changes according to person, number and tense.
For example:

He is coming. (present progressive)
They are coming. (present progressive)
He was waiting. (past progressive)

They were waiting. (past progressive)

:(BE +Present Participle) s /) ¢ o)

( progressive aspect - >l ila) A jued g8 g sl Ja-
( perfect aspect -"a) Jaill dapa" Jidl cuila) U a3 8 < "Have +Past Participle"JsY! g sl 13-

4l (a5 ¢( progressive aspect - 223 caila) A =3 58 < "BE +Present Participle” 53 g 53 5

( Past progressive s Present progressive)
Lol sl aadl ff padlll iR BT el (finite -23a8) a5 «(Auxiliary verb -aebus J2i) S 23330 " BE"-

P He is coming -1 /Jbs
: Present progressive LadsS
1

___________________ L They are coming - 2

Ll g ad sl i EAG B " BE" 40 skl Jad of La Jaadl -
o) g 23l G o)) i T ¢(finite -o1aiak) L 13gd ¢ paddll 5 axall G ) a3 (are - is) -

R —— He was waiting -3

o2 L—— They were waiting -4
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. oaddll 5 2l G |65 (were -was ) of Ll La Jaadl -
Pl 5 AV adaall o 0 lE ¥

___________________ i — Heiscoming

___________________ I L— He was waiting

e e e —_ Heiscoming *
i Present progressive - oYl Lea L
L eemmeemmeeeeeee———-4 L__Theyare coming
o e e e — He was waiting *
: Past progressive - o¥lis Laa L]
L mccccmccee—————--2 L_They were waiting

Type 4 BE +Past Participle :
This type produces the passive voice (in contrast with the active voice).

The verb is active in this example:

Ahmed broke the window. (active voice)
The verb is passive in this example:

The window was broken. (passive voice)
:(BE +Present Participle) s 5 /a0 £ sl

3aley LALAAT Lin) Slad ) €8 4lllll oS5l 50 JIA (e 4Kl 4d slle Passive 3alS Ja ¢Passive ) Lk ¢ sill 13a-
(10,0 5,835 130 o_ypalaally Wl Cada oy il ) 2o ) giSall s 50 i AW 6 jualaally cilS 5 g galll S il

A lasy) aslll 8 "voice" J g5 saa) & Passive -
(Jseaall s ) ilus Cisea >> [ Passive voice | ) ¢«(Active sl Passive) @ o5 3 "voice" -

(pstedll Lise ) alls sl sie & sm >> [ Active voice ] s

U 1aa 8" Active" sl Jadll -

potaall s 5l (active voice) >> Ahmed broke the window

:JUdl 138 3" Passive " sls Jadll -

Jsexall S ) (Passive voice) >> The window was broken

. Jelall (S olinia g 4y J gmiall L2AT Ll 52 L olilad (o211

. (the window) & 4 Js=idll 5 (Ahmed) s» Jelill 1 J oY) alaall -

.(was broken) = Wlixsi &3 (the window) = Uix 131 dled Jelill ela "the window" 1 4l aleall -
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..(Be +Past Participle) s 5 4sxill Cile gandll (e @l )l £ 5l aladinls Passive ) CHARRRE
(The window was broken) << 4laall cisaals-

"Be" 435Kl J2é >> was

[ break, broke, broken ] < Past Participle of verb "break" >> broken

Jseadll cudll g1 (Passive voice) J) 4ara Laa >> was broken -

I pge gl

Modal Auxiliary 1 :Js¥) g sil-
perfect aspect I : A4l g 5ill-
progressive aspect -l &l g gl

Passive voice 1 ;a1 A g sill-

Exercise:

Decide whether the type of the verbal group in each sentence is:

a. Type 1 (modal +infinitive) b. Type 2 (have +past participle)
c. Type 3 (be +present participle)  d. Type 4 (be +past participle)

1. The machine was fixed.

(Verbal group -4ul 4= san4) >> was fixed -1

" be" 4358l J2d >> was
Past Participle of the verb "fix" >> fixed

Jseaall il 51 (Passive voice) JI le Jie 13 131
d. Type 4 (be +past participle) s <l sall-
2. He can fix any machine.
can fix -2
Modal Auxiliary >> can
"Bare Infinitive" <8l udiy & 5 (Infinitive - )aas) >> fix
SO e sl e Qi 13 130 (adapud) adpall) casbil) Juill Lapay Ua ola " fix"-
a. Type 1 (modal +infinitive) s masall Gl sall-

3. He is fixing the machine.
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is fixing -3

" pe" 4 AKll J2é >> s

(fix + ing) = (-ing + J=dll) ) Present Participle >> fixing
.. <alill ¢ gl s g (progressive aspect) A1 e Qi 13a T3l

c. Type 3 (be +present participle) s gl Gl all-

4. He has fixed the machine.

has fixed -4

"have" (e 28l dxua s 5 >> has

Past Participle of the verb "fix" >> fixed

. G & 5l s (perfect aspect) J) e Jba s 13-

ke L o 5 bl e 8 cela LY 1388 K > has -
LX) Jadll e (Past Participle) ) 4awa & 5 > fixed
b. Type 2 (have +past participle) s gl Gl sl -
Type 5 DO +Infinitive :

In this type, the helping verb “do” is called an operator. We call it an operator because it
helps in a number of operations performed on the verb phrase (VP). Some of these
operations are:

Operation 1: Negative
To form the negative, we put “not” immediately after the operator.

e.g. He does not want it. They did not come here.

: "DO +Infinitive" /8 s 4dlaill 4c sanall ¢ il o (ualdl) £ gil) (il Y-
.. dale ol &334 ) (an operator) = =2 " DO" 2ebuall Jadll < ¢ il 1a-

e e Lﬁ e Loy oy A3 g Arenll 03g) Cov Slia g ‘(an operator -3\41.:;) =052 (Al fal-
.(VP) adadll s Ll e ( performed— s a3) 3l (operations -<lee) I

.4l (operations - <liles) A1 s3a Jas & Lacluy (an operator) 13-

2 g eVl S ¢ ann il o) oall o388 L (operations - Clilas ) & Uellaely 5S40l 1) giSal) J o
. 3oe S

: operations ) s3a (s 13-
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:(Negative -4ill) AoV dlaad) -1

.. (operator) J 2 1,58 (not) AulS muai o) e Y Al delua La 13-
..(operator) I & " DO" AxlS allal) o3a 8-

He does not want it (1/JGe-

LGl Caplall 8 a8l 5 g8 5 " DO" dadll (e g sladd) 3 jiall dasa 98 5 >> does
.. 1,53 (does) 2= &85 >> not

..(operator) 4l 2 " not" il (e dles ini gl) Al ¢ giai S

.. "does" s (operator) ) 2= " not" Lidual 4alaall o2a -

They did not come here (2

" DO" dadll (e palall Arpa 54 5 >> did

. 155 (did) 2 &85 >> not

.. [ 4ie operation I o2 Jaad (5 | (il guail " not" saes a5 ¢« "did" 525 (an operator) Lual La-
Operation 2: Interrogative (question)

The interrogative is formed by placing the operator before the subject and leaving the rest
of the sentence unchanged.

e.g. They come here.

Do they come here? (interrogative)

: "JIsudl” (Interrogative -4saliindl) 4uilill dtaal) -1
5 A ana Lyl lalies 5 (question) A oS AU e 55 o el g1 531 o Lol ols 83 e 5 8-
..(Interrogative -4xldiu)

( <) s>3uY) -Interrogation) ¢ 3sale "algiinY) - Interrogative” *
(Slasladll (e B3adll-Interrogate information ) x5 Laie (g

«alaall a1l (operator) 4 2 "not" =i (Operation 1 - 1Y) adeall) -
oo Aalgiinl aleall daad "delll" JB (operator) 4 @i (Operation 2 - 46l 4leall) 8 L (S

L BE Y (LS aleall 35 5 "deldli" J8 (operator) ) g 13-

They come here /Jis-

.. (an operator) ) zUss 4uleiivl aleall delua Jaal-

" Do" s (operator) ) (sSad "s" s a Y 5 clilial (52 (come) s s Alladl s -

Do they come here? : J -
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Lpa 3 Jaill s (Y e ol i e jle i ¢ iati o) aleall 48 5 adadl 3 " Do" Al linuia g Laii-
oS O b LS alaal) Jan L painnal) g ladl) dipa 8 Y5 ol

." Do" < (operator) 4l le 352 Juaill 5 4xlgiinl & >> (Do they come here?) 13-
Operation 3: Tag question

He did his homework, didn’t he?

They don’t come here, do they?

: (Tag question - LS gl J) ) AN dlaal) -1
..(an operator) ) zUss 28 gl J) g ¢ gusail-

¢S 6 s Ll () Caea ) U.\j s (He did his homework) << alaall oda Wl il 13) -] /JUa-
..(He did his homework, didn’t he?) << 4leall zuaiud "did"< (operator) I zliss

AS 55 Jlsw 8 >> didn’t he -

<. (No =Y) 5l (Yes- axi) 58 2S5l Jigaad (0 sSam l salli-

.. Yes, he did << e i o) o S5l (e ) sSms JV ) 12 b oS0

.. (operator - Jale) I sa "did" alladl o2a 8-

They don’t come here, do they? -2

AS ¢ Jlsw 58 >> do they -

S Jlas W gamy I U slianiial 5 (operator - Jele) JI 4 >> do -

.. No, they don't << (Ala ) Sam 354l (e il gall-
: oielual (operator - dele) I (e aaiins 3l 5 (operation — Cialeall) (e g1 53 COEN o o2 ]

1- Making Negative [ daiia lglea -1
2- Forming Question [ Jgm delua -2
3- Tag question al[ AS g3 Jl g -3

Jal gall =S jaall

Operators:

In addition to “do, does and did”, operators also include:
1. The modal auxiliaries (can, could, may, might.. etc)
e.g. Operation 1: He could not come.

Operation 2: Could he come?
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Operation 3. He couldn’t come, could he?

..(operators - Jalse) Al Jsa S Galas ) Jasin (Y-

:delii 5 A1 (operators - dalse) dlia uslall ¢ 5l i (do, does, did) ) 48bayl-
:(modal auxiliaries)! -1

(can, could, may, might.. etc) /Jis-

1 4leall >> He could not come -1 /JGe-

il duail "could"< (operator - dale) J) axy "not" Lina 5

2 4kl >> Could he come? -2

< Aalgfinl dapa Lelaad alaall 0 & "could"< (operator - Jale) Al Liaia o

3 4kl >> He couldn’t come, could he? -3

S5 J) s gl "could"< (operator - dale) ) Liaadiul

2. “have”, “has”, “had” as helping verbs (and sometimes as main verbs in British English ).

The following are examples of “have” as a helping verb operator:

Operation 1: They have not come yet.

Operation 2: Have they come already?

Operation 3: They haven’t come yet, have they?

..(operators - sl ) S sy 33 > 1 “have”, “has”, “had” -2

..(operators - Jal s£) S agaadins lavie gl JdlS i saclive JuailS agalasivl o Sadll e -
Ay ) 43ll) die Auald Alla o apld Jlail ol aial 5 (operators - Jel se) S agediind Ladie -

seluae Jai€ Lk (an operator — Sule) 058 Leie “have” ) oo s 4l aliey) -
:( helping verb operator ) =4

1 «aleall >> They have not come yet -1

( helping verb -2clus Jx) s 5 (an operator — Sule) >> have -

(main verb -l J2i) 54 >> come -

cs8 adaall Aelua J2a3l " have"< (operator - Jale) I 223 "not” AalS el -
2 4kl >> Have they come already? -2

. Aalgiin) dana ledaayl alaall L)y 4" Have" < (operator - Jale) ) sls -

..(main verb -l J28) s "come" s ( helping verb -aeluc Jad) sls Ua " Have" § -
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3 4all >> They haven’t come yet, have they? -3

..('helping verb -2=lus J28) 54 5 (operator - Jale) sls >> have -

..(main verb -l Ja8) >> come

LS5 s duaid " Have" < (operator - Jale) ) sls -

..2clus Jed S (operator - dele) I J3A e IS 2855 JIsas ) 3 dalenl) A2l 131

This is an example of “have” as a main verb operator in British English:

Operation 2: Have you any money? (British English)
Compare: Do you have any money? (American English)

038 5] (el JaiS Callah (operator - Jale) < AL 3 " Have" of G aald cVla dlla i L Sh
..( main verb operator ) e [ 4slay ) 4alll 8 laass aalall Al

12 aghasl Jle e

( Have you any money? ) :Js agithay nll aalll 4 Jlal) ol Laxie -]

..(main verb -l J28) 58 5 (operator - Jale) el " Have" << azillayyll aalll & -
) ) e Bl J) s *

( Do you have any money? ) :Js& 4y j¥) aalll & Jldl allas Leie -2

s "have" s «( helping verb -2cbus J28) 52 5 (operator - Jale) sla " D" << 4 je¥l aalll s -
..(The main verb -1 Jadll)

Al (operator - Jele) axiius «( Do you have any money? ) iU st &S 5V 4all)  Sale 131
" have"< (The main verb - ulbw¥! Jadll) adins ¥ g ¢J) s Alual Allall oda 8 aclus J2iS " DO" < 58
..l 5 delual Ua (operator - dale) S

—-——
7

\\
V4 . 3 \
voeadl
S o _-

~_-

oSy ali) auail (operator - Jale) S 4asladiv) diSay «(main verb -l J2d) < " Have" ¢5S Ladie-
o Agilay ll 4zll) d Lacé

Al 3 a8 L Lo ) delial sels JaiS " DO" < 585 (operator - dale) paiui Bile -
il ) a3 Lot (adl (pa s e udai¥)

n o u; n u ” n u

3. “am”, “is”, “are”, “was”, “were” as main verbs and as auxiliary verbs.

The following are examples of “is” as a main verb operator:

Operation 1: He is not here.
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Operation 2: Is he here.
Operation 3: He is here, isn’t he?

S alud JilS o silal 5 (operators - el se) S (yskeay 38 > 1“am”, “is”, “are”, “was”, “were” -3
(48 0¥ ol oy ) 42l & Ja) Bl 4als Vs Ua 2a 50 Y 5 (auxiliary verbs) < saclua Juadls
 oiadl) IS ng cgﬁd\ o Ll L.,S‘

sl Joi€ il (operator - Jele) 05 Loie “is” (e (58 40 abiaYl-
:(main verb operator) c8

1 4:lasll >> He is not here -1
.. 4sdia aleall Jaad o2ay "not" Lial Y (operator- dale) sa Cgll (udiy 5 bl Jad 8 >> s
2 4dleall >> s he here? -2

Jad gl aa 0 ¥ casalgiinl aleal) dana Janid alaall 43y i slinca s s " [s" < (operator - dale) I Ldal -
..(The main verb -bu¥) Jadll) s " |s" 13c Al

3 4ledl >> He is here, isn’t he? -3
..(main verb -l J=d) 58 8 iy 5 (operator - dale) Al 2 >> s

The following are examples of “is” as a helping verb operator:

Operation 1: He is not coming.
Operation 2: Is he coming?
Operation 3: He is not coming, is he?

Aclia J2iS uj.:.a.; (operator - JALC) U}S.-.‘ Ladic “js” o U}S:‘“ dm\ aliey)e
:(helping verb operator) =8

1 4!l >> He is not coming -1

..(The main verb -sls¥) J2dll) 54 >> coming

. o deal) delua Janl oans cla "not" OY (operator- dale) s 5 aclua Jad 58 >> s

2 4laall >> |5 he coming? -2

..(The main verb - oY) J2dll) 54 >> coming

o Aelgdind Lelany 5 Lgrpad alaall 43y b oliadiiul 5 (operator - dele) s 5 aclue d2d 2 >> s
3 4kl >> He is not coming, is he? -3

..(The main verb - oY) J2dll) 54 >> coming

oo 38l Jhp W gad 8 sliaddiul g (operator - dale) sa 5 aclua J2é g8 >> s
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Exercise:
Decide whether the underlined verb is:
a. a main verb operator b. a helping verb operator c. not an operator

1. They do not come here often.

& alaall delua Jaadd "not" sam sla 5 2l J2é 2 5 (Operator - dele) s > do -1
..(" helping verb operator" e s 131)
b. a helping verb operator s wlsall 131 «(The main verb - sws¥) J=dll) s > come

2. | have not seen this movie yet.

s Adaall delua Jaaad "not" sdrs ela 5 2cbus Jad g8 5 (Operator - Jsle) 54 >have -
..(" helping verb operator" e s 131)
b. a helping verb operator s <l sall 13 ((The main verb -w¥! J=dll) s > seen

3. Do you have a copy of the movie.

$¢J) gual) Az lial sliardinl Ja (Sl ¢(The main verb -la¥! J=dll) 58 > have -

5 el D" el Jaidl Lokt y eJa Y

sl W jpa aleall 2900l 8 sliaddiul 5 (The helping verb -acluall Jadll) s > " Do" 13)-

«J sl delual (operator - Jale) S Uia axiiu) ol " have" o815 «(_helping verb operator) = 8 s
b. a helping verb operator st <l sall 131 ¢ ) JaiS ela Las

4. He is not here.

T s P]d,ﬁw\ b%@hyy -4
+(main verb operator) = s 13\«(operator - dele) 54 5(The main verb -elu) Jxdll) s > is 13-
a.a main verb operator s zasall il sall "is" < (operator - Jale) Il 3 "not" Jas Al Ll

5. He isn’t going, is he?
..(The main verb -+l J2dll) 54 >> going -5

Uiial 5 (helping verb operator) = s 131 ((operator - Jale) 58 5 cluoe Jab 58 >> s
b. a helping verb operator s il sall 131 ¢ "ig" aclusall Jadll aladinly A€ il J)sms

Form and Function
aplyll 5 azuall
Form and Function: 44kl 5 4iuall
Form is what the word/phrase/clause look like.
e.g. noun, verb, noun phrase, verb phrase, relative clause
Function is the “job” of the word/phrase/clause in a sentence.

e.g. Subject, Verb (Predicator), Direct Object, Complement
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sl G aal g dsaal) o A e DU Gilativ b palaall o3 3
..(word/phrase/clause) 4 4 seka 3 jedaal) ol JSE s rdauall-
Mol dapa® ey o lall edaa 5 MalSl) dapa" e 4alSll edaa of (g
CMaal) Alaadl" gea gall an¥) Alaa caalad o jlie cdaanl o jlie (Jad can [Jie-
sl ks Jadll O (gl (aasl ela) Jadll 138 1580 Lasie Sl

o2l a4l ) (6] (ad Dels) 4alSll oda 158 )
o AL G sl 86 S alial agd U S5 (VP) 5 (NP)-
.. 4pa (e o be a5 (clauses — < i Jeall) D) g1 sl sas) o3a > "relative clause” -
A el o) 4ealdll @l jualadll i (clauses — @l 5l dealdl) A1 e Gl
..alaall & (word/phrase/clause) 4 Jesll (o o jlie sa sadudi gl
.. ksl 4 (word/phrase/clause) J 4lxiy L (5!-

(NP) 4sans! il jlall o Tl G 83 L& (NP) 4pan¥) <l jlall Jee 58 5> (Subject -1l 5l Jelall) -1 /e
..(Subjects - wlsis s Jel s8) (585 8

. 4ia 5l > (Subject) Jeldl caxpall > (NP) 4zandl o jluall 13-

Mapa O5S B g4idi g 5S 8 Lyl > (aiwaddl — Predicator) Jadll -2

ARSS G Leie daa )5S

..(Predicator) sl Ll adl Callad Laxie 4ida s o So-

«( Predicate -4 2ila) 5 deli 1 e (5 gind adasdl Jaall o L LS-

¢(2iudll — Predicator) e 4l diwall & Jadll

"it can be filled only with verb" k& J=ill (la 5k) Lelad il i o4 (xall-Predicator)d! dada 5 oSl
LAl 5 45,aS (Verb) pllae padios S

o5 Lgmaii 4yl gll inal) (uii A1 " Verb" cams oY 42k S (Predicator) sl (Verb) pllaaas aadius -
..(Predicator)

Laspal) 54k gl e JS) (Verb) (e addins Js o(Predicator) (e sale aadid ¥ ¢ ) sa¥) Jagesil oS5 -
Alaall 3 Jadll Leledy ) asila gl (to indicate — i 5 i) (Predicator) (e plasiud Lol LiSe o<1
AR &) jualsal) 8 6L3EG > Direct Object -3

oA elh o) o paladll sda & LS8l > Complement -4

Exercise:
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Choose (a) if the given term refers to a form and (b) if it refers to a function.
a. form b. function
1. pronominal group
(el de sana) 43 jpenall 4e sanalls o se i Al ClalSH (g 4o ganal 5l o Ll il g sl arsa o2 Ja -1
L Weall 1 lgle Jlie U835 4y panall e ganal) e il L -
all < 3 J3ne 5 ¢ We < e Ll g jiaa 4e gane 8 (We all)-

4e sana" 5l "phrase- ales 4sd 5) o Jlal” 43 et A sedaall (b (gT) Aipall pusd (& 43 paall 4 send) Tl
a. form s <lsall ((group of the words — <lalSll (e

2. indirect object
(NP) 4l sl & LaWle 5 @iy 4 >> indirect object -2
..(Functions of the "NP" — 4seu¥) o jluall Caild 5 ) Jil8 2ey 2alun*
..(indirect object - yilwe e 43 Jsnin) & 4blagll s ¢ (NP) 4pan o jlie (A 4arpall ) -
b. function st < sall 13-
3. complement

gl gaa) cuad o3 (U5 o a5 0 58 22y (complement — 41&L) I (e (il >> complement -3
b. function s& <) sall 13 (complement —al&Al) o ausi oy sl o e 5f 4aalSl adl 5 4 Jy ol

4. subject

(NP) 4sand o e & Lalille 5 cadidag oo Jeldl) of b oLl LS cliaal) i Jeldl) -4
b. function s <l sad) 131 «Jeli (subject -deldll) (& 4ida )l 5 (NP) dpand o ke (& axpall of -
5. noun phrase

s ecailda gl e 23e) Aipas 4ans¥l o Jlnll (5585 L Llle 5 cdrpa (& (43auY) 5 5Lall - noun phrase) -5

—

..(subject) Jeld (<5 8 -

..(object) 4 Jsria (S5 B

..(direct object) il 4 Jsada S5 28 -
..(indirect object) sl e 4 Jgria (S5 8 -

[ S &

a. form s ol sall 13-
Functions of the Noun Phrase (NP):
1. Subject of a Clause

As we mentioned in Lecture 4, a sentence needs a subject in order to be complete (except
for imperative sentences where the subject is unstated).
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e.g. The old man is here.
(NP) I il s ) Jiie QYW
Ay o Ll 5T "Noun Phrase" 3 Jbaidl & (NP) of alad L=
eV o jliall Adli Al Caills ) aa L
da (Alax ) 588 (1ot o) Jold) =1 [ Apamd) o Ll oY) 4duta gl)-

&) zliss "One Clause sentence” 131 ) «alei€s maail Jeli zlind aleall G axg) Hl1 5 jualaall 8 L b <3
.. ["unstated - 7 5ah 5" L 5S deldl o a5 el oLl | o daiSe raad s 5l Jeli

.. e}@s.‘\_'& Jeld aa o0 ¥ alaall 02a & >> Go study /S
o deld ) zlisg (o AY) Jeall maen 8 (S5
The old man is here -

4ansl dlea diua o) ) J¢(Nominal group -4xes! 4laa) 58 5 The old man << s 4leall o8 & Jeldl)
[ deld ddag

man<< (The head -+ Jll)-
old 5 The << (Y34 5

(Nominal group -4xew¥ 4 sasall)s o8 523 5 02al 5 4c 30348 Jas (The old man) 450 SlalS o3a JS-
M) S pualadl b (5 S5 LS (NP) 4sesY) i lall e g 53 0 s

.. (Simple Clause Sentence -4l 4laall) o3¢l Jelé s " The old man" 13-
2. Direct Object of a Verb
Transitive verbs require an object. Monotransitive verbs take only one direct object.
e.g. Ahmed finished his work.
Lo adl a4y il 22 [ A Asana¥) 8 jall 43000 il -

o2 5 ¢y Jsrde o (5 sing a3 Jadll i 5 cgania Jud ol a3Y Jad ()5S 38 adl Jadl) e olill La ()5 S35 a3 13)-
.. Jaaiilly lales Laals S5 ()3 (Ditransitive s Monotransitive) ¢sSi 38 e Ui jS3 4wl Juad)

Ahmed finished his work /Jis-
" smiall galal o 3Y U8 - Monotransitive” s 5 delé sa >> finished

¢(NP) s 13 ¢(Nominal Phrase -4l o)) s >> his work
«( The Direct Object of verb "finished" -"finished"Jsil il J s2ia) ela Lad
..(The Direct Object is "his work" -" his work" s& La il J s2adll)

b sl a1 5 (s allall o2 3 5 alead) oda (8 aal 5 4y J gaie Lpal 13-
..ta (The Direct Object - bl J s2aall) o558
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3. Indirect Object of a Verb

Some transitive verbs require two objects. These are called ditransitive verbs. They take a
direct object and an indirect object.

e.g. He gave Khaled a book. (... gave a book to Khaled)
The shopkeeper sold him some snacks. (... sold some snacks to him)
pla Jadl jdlia ) 4 Jgrial) 23 /A danll) o jlall 451N A8 5l

4l 4. )Y Jdl - Ditransitive Verbs'= eAU}cJ Ll O SX lAS}) Ol sia e (§ S 4 30U Jladl) Gian-
L saddl

(e a5 5 5)"One indirect object” 5 il 43 Js=idll (10 2515 51"One direct object” 2al JladY¥) o3a-

ol ppall 4y J sl
Lohe il s e s bl Jsrdall s e o8 o) Y Allad) el e
(LS s ) s2) He gave Khaled a book - /Jie-

(Sl ) amy Al gL £3L) The shopkeeper sold him some snacks -
Llegie IS A8 (Y e aa g ilaal) il -
sl sy alaal) i

.. dadll 58 >> gave

a book -2 « Khaled -1 << (¥ széa il o
..(indirect object) s _AY! s (direct object) s Lagie 2al 5 13-

sl aleall 23 re-phrase sl Sl re-state gabivi ¢Jenl je¥) Jaal-
(] ol el s8)  (He gave a book to Khaled) << 13Sa

oo dlal) Jgmiall ()5S0 gilan Judl) a5 550 dpansl) o jlall Ciels alaal) o4 8-
codle aal) Jsadall (b "to" ae Cela ) (NP) 4xan¥) o jliall -
< ike Ll Jsaid) 58 >> Khaled 13-

bl Js2idl g8 >> 3 book

5 e IS Jad iy Jaall (amy 070 IS 8 @i Y LD g Jgasl 5a¥1 Jantl 4 alea) (a5 sale ) 45y jla*
Ll W Y Leann

sl aleal i
.. J=dll sa >> 50l
some snacks -2 ¢ him -1 << oY szée Ll 5

..(indirect object) s ,3Y 5 (direct object) s Lagie a3l
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zoail aleal) 238 re-phrase sl Sl re-state aaiog ¢deud jaY) Jaal-
(AL QU ae) ) (The shopkeeper sold some snacks to him) << 13a

e il Jgaadl sa "him" bl Js2adl 58 "some snacks' sl oda -
il ) Jsaid) 54 >> him 13-
o8l Jsadall 54 >> some snacks
4. The Complement of the Subject +BE (is, am, are, was, were)

A complement is a word/phrase/clause that completes the meaning of another
word/phrase/clause. It is necessary for the meaning to be complete.

e.g. Ahmed is my best friend.
: (is, am, are, was, were, been) 43 guSl) Jad 4o il ALaSal) 24 [ A dzac) o jlall dayl ) Aduli gl

[is, am, are, was, were, been] : /585 8 (BE) 43538} Jad () ales LS-
..(Past Participle) 4l (») & "been" Jail

(450 Jled) I (e 51) JdY) o3 IS (e Alaa) dipea W s -
Uy\ L@i—\\)’d }A\A i fb‘).\.a\A.AM 0l (.A C'_ﬂf Esﬁ \A\JJSJ ‘5'}!\ §>> (complement 4l ’S’l\)_

s aJ\,\c ji 4\.415] R "6‘:.':&" dis: L;d\ ["d.c.;"o‘)ﬁ }i "d.q.; s o‘)\_.u: }i 4_AS] . ‘;A AR Ciy e
LSPT [u%ub‘)ﬁ }i u%

il (alad)) JLaST z oa ALK dails -

O il (o g)) Ui e s 5 AY) ["aleas jail) ol "alan 40i o jlall o ALSH] Al&A 50 (g 13-

(m=mmmmmmmme It is necessary for the meaning to complete) / J) s*
complement / s ) sal)
(GG i) mad) (51) irall Al dage o L&A T3

e OS5 LA Ak ¢ bl gl) o3 ) Caa 4allill 5 jualadll 6 (AT 3385 -another distinction) 2l
Ji "A\A.A;A_.d:" c)l_.\c jiMS]JM\eLAS\XWgQM\ uihﬂﬁﬁoy@\c&&uﬂ;s%
AzanY) Ol el e Wiaa die (g Al [Madeats i

Ahmed is my best friend /JGe-

Al oda 4 a5 ([4mnl 4e gana -Nominal group :4e 5] (NP) 4zl o jle & << my best friend -
(irall JUSY Lgaling Ll (51) sinall alai dage Ll 4Ll Lol Lidde (oS alell el

S gUisd o "Ahmed is" » 4leall elgi) WSy (51) aleall olgl Al alai o5 (Ahmed is) 158 o Liay Sl
i 45 gl Jad g Jeldll ) &G ST o

LAl e 14:1\ s alaall g ¢ izl 41.935; e puali alaall (my best friend) 08 (e fal-

LY gkl 4 a i Ja alaall o3 8 (NP) I L 13-
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.. (is) 45380 Jadl 5 (Ahmed) Jeldl al&s & " my best friend"-

Note: When the complement is a noun, it must agree with the subject in number and
gender.

Ahmed is their uncle. (not “uncles” or “aunt”)
Sarah and Huda are their aunts. (not “aunt” or “uncles”)

The full verb “BE” in this example only serves to join the subject and the complement
together.

In this case, the full verb BE is called a Copula (=something that joins things together). There
are other copulas in English, for example, the verbs “become” and “seem”.

————-

- oiadl g aall b Jelill e (3 5 2D "l AL S Laie £ 1 ABigala

S~ =

Jad 5 Jolall AlClll) Al 3 Guinll g 23ad) 3 il U ghay o oy LaaDIS cali&A) el 5 Jelall bl Ta)-
..(Complement of the Subject +BE -4 sil)

[ Ll oludls ] Guind) 5 aaall (y5 S
L) 52 el /i < sl
Codlae — S0 — S/ < uaal)
Ahmed is their uncle -1/dbs
S35 8> Ahmed : of aadls
S35 34 > their uncle

D JaAl Sy Y
?13ld "Ahmed is their uncles" *

..&=> (their uncles) s 34 (Ahmed) Y-
ke UsSy o ) e a3
$13L "Ahmed is their aunt™
.l e 355 (their uncles) s 83 aul (Ahmed) Y-
LSRG o oY) e cany 13-
Sarah and Huda are their aunts -2
&l 5 aen > Sarah and Huda @ of a3
&8l 5 e > their aunts

HISPANSI VR
?13l! " Sarah and Huda are their aunt" *
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.2k (their aunt) s gas gl (g1 (pads 0o o jle (Sarah and Huda) oY-
e UsSy Y e g 13-
(" aunts" a5 geas sS3al&L L 4slas "Sarah and Huda" of l)-
13 " Sarah and Huda are their uncles"*
oS3 e 3 gy (uncles) 5 &Y e 253 (Sarah and Huda) Y-
LY e g of oY) e cany 13

-———

(B Sl 2553 169 " qunts” AL ) asla Ll )

~
A . \
Oorend )
o _-

[ Subject + Be + Complement] "4sau! o e (5585 alSQI" [ 4l 545538 Jad 5 Jeld ] Lual (S 131*
Sl il a3 Jelal) me (3855 () Gang "aL&A a 5" AganY o lalld

o Lo LA 5 Je i) e Ly 5 6 a2k JUal) 138 b Y] 45 53 Jai®

Oo O Loy o ot Alend AT Jab a5y Y A3 delie Jab G 5 ol b Jeall oda 3 oS, 45 5K Jad*
(e ) S Jamy 3l (1) Te al&Q) 5 Jelal)

copula- 5l Jeill" ey (ol 4330 (Jod) Allall oda i T3l
oar e ey e e 231 A" copula - ) Jadl)" ALK e

Jad + Jeld aL&A Al 8 [copula] = (is, am, are, was, were, been)"Be" ) 43 5 Jad 13-
.. hid "Be"4 axl|

i i€l Jad e 4y plai¥) aalll & s A0 (copulas -4dail ) Jladl) Sllia*
[ Jia

become-
seem-
A 4all 8 dad S ¢ Deny Lo Dladll (la-

L) g) @l of 15 a3 o) aSie Gosllaall (S35 o pualaall oda & ¢ Sladll gl o alial )32l ol /) iSal) i
LSl Jad e (5 A

5. The Complement of the Object
e.g. He found Faisal a good student.

In the previous example, the noun phrase “a good student” is the complement of the direct
object “Faisal”. Compare the examples in (a) and (b) below:

a. The teacher found Faisal a book.

The teacher found a book for Faisal.
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b. The teacher found Faisal a good student.
The teacher found Faisal to be a good student.

In example (a), “Faisal” an indirect object and “a book” is a direct object. The sentence
means that the teacher looked for a book to give to Faisal.

In example (b), “Faisal” is a direct object and “a good student” is a complement. The
sentence means that the teacher thinks that Faisal is a good student.

s o Jsndall AaShl) 25 [ a dgand) o laall Acsaldl) 4dds gll-
sl ol aga oo A ALK G 5 SN LS
He found Faisal a good student /Jb -
Jeldl >> He @ Wwal
J=dll >> found
bl 44 J 8l >> Faisal

&8s adl 135 138 "Fajsal” of iay 43 La Lield (He found Faisal) :Jsi Lexie «JuiSh ye nall oS-
LS e alall ol A el (135 1S "Faisal” o

) eu e 5 adia OIS Jhaid o Cussy "Faiisal” x5 4 L aais Y-
"Faisal' O 428 51y 5l pasdl) safiny Lo Jy ¢(He found Faisal a good student) Ul sixall sa Gl 138 o)) Y
Ll e

LA O 5Ss  (nalld ALSA o3 (50 (e Y"Faisal" 40 Jseiall Al o (@ good student) Alladl o3 -
..(a good student) 4xau¥! s Ll ()5 "Faisal" 43 J sxiall JaiSh () 5S5 o inall 131

¢ (So to state we said here again - 3l 5 5 La olili Lo zaa i) -
."Faisal’ il 4 Jsiall al&S 4 (2 good student) asesY! s jlad) Glull Jia &

12Vl (b s @) (b el 8 Jalie¥) (any ¢ s 5ill oLl e e zda sl
The teacher found Faisal a book -a

The teacher found Faisal a good student -b

o oiliae L a1 oS 5 ligibiie Lagsh W ey fileall glila-

palead) i i amin (a) A oY) Al -

The teacher found a book for Faisal

el QS e Ciad ad alaall T
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D aleall (5 amis (b) G4 40Ul Al s
15t of LSy DU (@) Alea (e 4dlide aleal) s2a-
The teacher found a good student for Faisal
ain Lo 138 Gl Y ¢ o) sl QU Ly 5 i il g il Canly s
Pl 1 e d yisale) i
The teacher found Faisal to be a good student
coagine il g Jaasd ()l "Ga ! Niay sgd-
el o
. le e 45 Jie 2 "Faisal” < (@) dsY! JEa -
o 8l 4 J 5280 54 "3 booK'
("L Jead bl " Jeadl IS e sa)-
e alhel 5 S e Cang alaal) of Six aleall-
il ela g (b) JUall (8 sl g 4p Jgmie Ll Gulu¥) A ¢ jdlie 40 Jsnde 58 "Faisal” < (b) SU) JEall 4-
."Faisal" 4 Jsxiall 41&4 "3 good student
LAgine Qb 58 Jaaid (of aiay aleal) G iad aleadl o LS5 LS
6. Object of a Preposition

Prepositions are words like “in”, “on”, “of” and “off” which are normally followed by a noun
phrase. The noun phrase that follows a preposition is called the object of the preposition.

e.g. Wearein the same class.
He walked on a high platform.

In the two examples above, the noun phrases “the same class” and “a high platform”

“ws_n

function as the objects of the prepositions “in” and “on” respectively.
2ol dijad Jgaia -6 /A dgand) o jladl dcialud) 4adudi ol)-
WINPT ) o e @-u sadle A (in, on, of, off) /Jie «lalS & jall Cagya-
s oaal) o Lpanss 4 pall sl < al) Cial Jgmde oy sall Capa &8 A dsen) o il
ol Gosal Jsnia ol "Jadll J gaia" aleall J saia ()5S o il s Ll
..(Object of a Preposition - sl < sal Jszia) & 4kl 5 (NP) & 4suall 13-
oal) Gl Jprie (b Lt b e i 3y (NP) x5 131 T3

We are in the same class -1 /G-
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..(The proposition — yall < ,a) >> in

.. (Object of a Preposition -_all <a ol Js2éa) & 5 (NP) 4sensl o e o2 >> the same class
L osoaally el dlas 48" (PP) Lyaall 5 Jlall 3 ke agrand >> in the same class

He walked on a high platform -2

..(The proposition — all <5 )2) >> on

.. (Object of a Preposition -_all < sl Js2éa) & 5 (NP) 4xansl o e o2 >> 3 high platform
LMool olad) dlas 40l (PP) Ly aall 5 Jlall 3 e agaani >> on a high platform

:(So to state we said here again - Al  ye La oLl Lo zaa 5il)*

iy al J 528 Dl (a high platform) s (the same class) 4xes¥) <l jlall ¢ oY) & Godll) cplliall a-
(s e -respectively) (on sin) Ll

7. Appositive to another Noun Phrase

An appositive is a noun phrase (NP) that describes the same person or thing as another noun
phrase (NP) that came before it.

e.g. Your friend Ahmed Al-Ali is here.

In the previous example, “Ahmed Al-Ali” is an appositive. It is in apposition to the noun
phrase “your friend”. Both NPs “your friend” and “Ahmed Al-Ali” describe the same person.

We will talk more about apposition, including apposition types, in the next lecture.
P oA Maan) ddas Apd™ doand o bl Ja) 27 [ oA Azanl) o jlall dajlud) 4B 6Y)-

L@gﬁ&c\é&ﬂ\c},\aﬂd)ii%\mﬂoJ\,ﬂS;&J\MjM\MM’  drams) o jlie sa 1 Jaud) iyl
(Y e o jlal) A sSaal) e Ll gl adil puii Causd 4l AgansY) o slall o 61 )

Loandll e e ) gt LaalilS il Vel (lisand) U e Lal T3I-

Olniiie il Lea s e sl 5l (and, but, ... ete.) Slia G ¢ciany) G Jlad) G a6 la (al 13-

o pball Yoy as Jadl e ad (A sV Asan¥) o leall)J sV and) amy 3l (3 (4l dgand) o ladl) SG -
S Y ey

Your friend Ahmed Al-Ali is here [Jlie-

..(The NP) 1Y) 4xau¥) s juall >> Your friend -
.Jull &5 ¢(The another NP) 43Ul 40eu¥1 o jlall >> Ahmed Al-Ali -

. oaddl s e lagai Laadl 5 (6 A aniliia Uels Laalis -
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.. Your friend 2 Y Ahmed Al-Ali -

(A S s 3 (Apposition) s (0)A) < s (Opposition) c 1588 1 JgiSall LelE adi gala*
20 (A g alisa lalinad > "Opposition” ) Ll clia lals <3 S saaianky & > "Apposition”

..(Apposition) < (A) sy lag ) s U 4y il aada gll o | slaads of sy T
:(Just to state we said here again - (Al & e Lia oLl L praa 53 Jadi)*
.Ju s (Ahmed Al-Al) - ¢l Jial) -
.(Your friend) 4zesY! o Jlall Yoy sqd -
s gad ) el (Ahmed Al-Ali) 5 (Your friend) Cxisen) (i bl UK -
Al o pualaall (B[ sall iy s g5l ] b e (g 5 el i s e ST Gt
Exercise:
Choose the correct function for the underlined NPs:
a. Subject b. Object c. Complement d. Appositive

1. His father gave him some important advice.

¢ (some important advice) 4adas & L -1

Jeldl >> Hjs father

J=dll >> gave

.. (gave) J=dll 43 Js2ie >> him

.. Lail (gave) Jaill 43 J s2ie >> some important advice

Lodle e JAY) 5 il Laalas) Y gada Ll Ua T3

-8kl Jsaidl 8 130 ¢(some important advice) s L;Lc‘ W o ol 13-
..(gave) J=dll Lilw e 4 Js2ie >> some important advice -

LA el il et s (gave) dadll yilu s 43 Jseie >> him 13-

il 5l 5 80l J sl s g0 el Ll g alliay) sl el ) fecall aleal) (s i sole) LiSad -
D88

His father gave some important advice to him

o pile 4y Jpaie s ) a5 43 Jsade 8 >> (some important advice) 13-
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ol pile adl 83 050 40 Jpnie 4l J Al 5 1D ald IS (aal 5 ple IS0 adida gl oo Jlsadl 8 stlaall
b. Object & lsall 13l ¢ il e

2. Ahmed’s uncle lives in Riyadh.
..deld 54 5 (NP) 4penl o lie 8 >> Ahmed’s uncle -2
Jz8 >> [ives
..(Subject -Jeld) 5 (predicate -4 Jiwa) N Flisd alaall Of alai LS -

J8 Cela 38 (Ahmed's unc|e) ) L drenl) Gl jlall 5 arenl &l jle 3ale O Jelall adlall oda @ -
ool o T3 (Jeli€ Jaxi a5 (lives) dadl)

" Ahmed’s uncle" deléll I sxiuse i) (o) (predicate -4d) 2ius) & >> lives in Riyadh
a. Subject s il sall 13-

3. Ahmed’s uncle is a successful businessman.

$¢Jelé (a successful businessman) Ja -3

Ahmed’s uncle < s& 5 la Jeld Ll sy Y -

9805 f al&h i "is" 435Sl Jadl J y=ia (a successful businessman) Ja -

O S T3 (il G e oo gad lilliie Glisan) (ke 2a s Y 45 Ju oad 58 olalls -

5] ) oy Al&L Y rlingd ai I Jad 5 Jeld Lnal IS 1)) Wl LeS 5 L&Al 5 J gmiall tlad ) i Ll o
(45 b

o ALK Allall o3 b (Mg amy AL&G ) zlisg >> (Ahmed’s uncle is) -

.." a successful businessman" 4xeuw¥! o jLall

3] 5 inall (&l dage AL 38 13 calanl) gl i i 23 (Ahmed’s uncle is) Jsii of galains ¥ -
c. Complement s < sall 13 ((The Complement of the Subject +BE) 4L&&ll Lerans

4., Khaled has a lot of books in his room.

.. ( NP) 42au¥) s jliall >> his room -4
JsmiaS Jant Lld Ja Cipay il dgand o e Lol IS 13) Tl W LS 5 ¢ ja Gopae Gl (NP) o Dl
b. Object s& < sall 13  jall o jal

5. The teacher gave the students exercises.

Jeld >> The teacher -5
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J=é >> gave
..(gave) dadll 4 J s2ia A 5 4eul o e >> the students
..(gave) daill 43 J 280 58 5 anl >> exercises
..(gave) J=ill (Y gzda lels lawd Wal -

1 ol aleadl i i ale) LiSay -
The teacher gave exercises to the students

. Al 4 Jsmie a5 (gave) J=ill 4 J s2ie >> exercises -
b. Object sa wlsall 131  58la e 43 Jsada 585 (gave) Jadll 42 Js2ia >> students -

6. My brother Saleh studies at King Faisal University.
..(Nominal group -4xeu! 4c sans) ke 5 cdaanl o e >> My brother -6
..(Proper Noun —ale aul) e 53 cdaanl o e >> Saleh
Andi addll e la e LaadiS 5 Gulliia lela 4gan¥) o jball g1l (4 Ole i -
..(Saleh) =2 il il 13 "My brother" 4sde o sey 53 (addll uii e 352y "Saleh” -

d. Appositive s PN fal ‘"dﬂ\ e.u‘}“ ol 95\"‘)';;2?\

7. The manager found him a hard working employee.

9[ a hard working employee | &k s & L -7
Alaall s3] ol i) 5 138 Gl Y 9040 adnd Sgine dale e Cind cind ) (o aleal) o34 i b -
Lagine dale 4l ey o iy el o o Alead) 03¢) maaall indll -

wo e ela 8 5" him" << sa g a5 4 Jgnde Lo Lial
. 4o Jsmiall &G 8 s 40 Js2ie Gl 8 (@ hard working employee) 13/ -

t Jsad aleall oda i yisale) Wiy -
c. Complement s <l sl 13« The manager found him to be a hard working employee

cosoaalls Jalls jbe ey Jadl e 4eldl) o jualaall 8 GaatinX

¢ (Complement of Object) s (Indirect Object) i (A S [J) g
e Lo sgde Jaliiial 5 alead) (i yi salely 1l )

Types of Apposition

Jadl g sl

Jadl g1s8 Types of Apposition :
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In Lecture 6, we mentioned that one of the functions of the noun phrase (NP) is as an
appositive. We defined an appositive as a noun phrase that describes the same person or

thing as another noun phrase that came before it.
In this lecture, we will discuss the types of apposition.

Apposition can be either restrictive or non-restrictive.

¢cast gl SN a3 bl oda (8 ST S die Gaantin g ¢ Aualad) 3 bl 8 Jal LaaT ¢y S35 LS
NP= b paia) daeny) 5 lall 5 ¢ dsand) 5 jlall catlla g aal ga gddday ga Jadl of Ll WS

Gela ) 3 jbadl (5 AT Arand 3 laS o i) (i o) (i 8l ds Chiay dgand B5le 98 1o Jaall Gy e LS
(Y eV 5 jlal) 8 KAl o i pudh f ad Sl Cumy dgansd 3 e b T ) L Leld

Joald Lagiy an 00 Y 5 4 ¢ 811 o Gl ) il LaalilS 5 (a1 any 305 Laa s lisan) G jle Ll 13-
b s B el diba g ) o L8 ) (adlll) il Cauad 48 5 5Ll ) s ¢ (and, but, .. etc.) S kil

Qo) il Bl pualaall o2 -

(3% e ) dhe e ¢ ((23ma ) e oS 8 -

(et el pag) o LA e 32 sa 5 restriction x o253k restrictive -
A. Restrictive Apposition

e.g. Your friend Ahmed Al-Ali is here.

In this example, the second NP “Ahmed Al-Ali” restricts the meaning of the first NP “your
friend” by giving an answer to the question “Which friend?”

We call the NP “Ahmed Al-Ali” in the previous example a restrictive appositive.

Note: In this type of apposition we do not use commas before and after the appositive.

D ial) Jad)

Your friend Ahmed Al-Ali is here /Jis

4aaul 3 e NP << Your friend

Ju A5 4enl 5 e NP << Ahmed Al-Ali

(Y asan) o jlual) ay el 4l dpan¥1 3 lall ) Lagaansl (palliia lola Laadis-

s e bl 8 Caa ) (il i Caia s LY ol 4 4l 5l -

oY el o jlall (el 32 (5T) iaal) 253 ( Ahmed Al-Alf) 45800 <) o lall JUal 138 i -

‘(CJ‘ . ‘CJLA ¢daal s.\ﬂ.i.\..al’aﬁ)s @L.agg\ucimafut.u\ QSAA\L}AQ)S*&(Afriend is here)\_’ﬁ\lj-
o (Sa gl ) dsE 5 el Jlus dla Jaiae ()50 28 Gaaa Gl 1)

s bl ( Your friend ) 4sewd) o Ll L33A ai Ligh (- Your friend Ahmed Al-Ali ) @ Jsii Levie ¢Sl -
. (Ahmed Al-Ali ) 4Gl asen)
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Ll s e 53 Jlsad) e sl (( Ahmed AlALT ) Of si-

(2384 ) 2 Jay ey ( Ahmed Al-ALT ) llall oda 313 -

ol e Ji Jaal 5 aadind Y Jadl e g gl 8 8 rads gala

.. Jaal s oany 5 4ld 2a 3 Y ( Ahmed Al-Ali ) Jad) o JUl 8 1 shaads 13 -
. el sl aasiins il g gl -

B. Non-restrictive Apposition

e.g. Ahmed Al-Ali, your old friend, is here.

In this example, the first NP “Ahmed Al-Ali” is a proper noun which is unique and does not
need modification. The second NP “your old friend” does not tell us which “Ahmed Al-Ali” is
here but only adds information about him.

We call the NP “your old friend” in this example a non-restrictive appositive.

Note: In this type, we use commas before and after the appositive.

D e pid) Jad) -

Ahmed Al-Ali, your old friend, is here /Jis

4anl 3 e NP << Ahmed Al-Ali

Ju o2 5 4enl 3ke NP << your old friend

(V) Azan) o Ll dmy gl AN Al 5 jlanll ) Laguiand Cpulliia Jola LaadiS-

Y ol G Caa s (s addll (il Cdea 5 LS ol o 4l 5 ) -

.. (Ahmed Al-Ali) A sY) 43au¥) o jlaall 223 el ( your old friend ) 453 4panY) o )Ll -

oY) Al o jlall (i) 335 6f) il 85 ( your old friend ) 45l axen¥) s jladl JUa) 13 6 -

Ahmed ) sla 22dl Jadl & 5 «( Ahmed Al-Ali ) = Ulay Ll Ui olilad Lo (&1 5 sl JUiall agliie JUall 13-
..( Your friend ) 2= (Al-Ali

i Y alh 4l ) 4 Ll Y W s aul 8 ( Ahmed AlAl) (o 5Y) 4l ol callall o3a 8-
st sl Jaand U zling Y 5 (e 4l ol el

.. (a8 3aaa (5| —Which old friend? ) :dWsiv «( your old friend ) : <l J& Lexie-

el i Y g (2324) (pre gadd s Ahmed Al-Ali Of W alsis ( Ahmed Al-Ali ) @ <l Ji Laxie (K-
oobadl (8 585 (oAl mall daad a5 4dlial e glaa (e o sle 2 (your old friend ) O 13
coodnyy Jall 138 J8 Jual s g 5 (3355 52 28h e J dsend Candl 13¢] ¢ 5Y) 4pansy)

Lodnys 4l Jual b lmia g 5 385 e Ju s ( your old friend ) 13-

o Jall day s 08 Jual b aiins Judl e sl 138 8 1483 gl
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Exercise:
Decide whether the appositive in the following sentences is restrictive or non-restrictive:
b. non-restrictive  a. restrictive
1. The shopkeeper Othman is a hard working man.
43au) 3 e NP >> The shopkeeper -1
Ju A5 4l 3 ke NP >> Othman
(Y dpan¥) o Ll amy gl AN Lpans¥) 5 Ll ) Laguiand (pulliie ol LaadIS-
2o s ol 8 Caa y M) Gad ) (e Chia g LY ol a4l 5 Ll -
..Ju s 13 The shopkeeper 2 ¢ls Othman-
« shopkeeper i Y s 38 Ugd ( The shopkeeper is a hard working man ) Jsii Lexie-
.( $2a85 &L &I —Which shopkeeper you mean? ) :Jlus 3

o 58 Al Sixall L Ugd ( The shopkeeper Othman is a hard working man ) : Js Levie (Sl -
L&k s A 5 Othman e e padd (e Gaanti (il Y ¢ Y1 4aanl) o lal)

a. restrictive s wlsall 13) ¢ ¥ Jy s Othman Alall s2a -
2. Dr. Omar, my Linguistics professor, published a book.
4anl 3 ke NP >> Dr, Omar -2

Ju o2 5 4enl 3 ke NP >> my Linguistics professor

O (' my Linguistics professor ) 4xlll all (5 ysud s 50 8 5 ( Dr. Omar ) = s sy Lnal Lia-
Ol ke

213 (Y 4pan) o jlall 22y cls (' my Linguistics professor ) s 1s¥) 4sauY) o jlall s ( Dr. Omar )-
. 4:\.\&\ Aran) b‘)l_.ud‘

A (3 alai (a3 (D, Omar ) WS ¢l 2y 5l 335 4 5 Ja 58 ( my Linguistics professor )-
OF Oalay acivadl) 5 Gaaaiall o $ae €A1 54 e =Who is Dr. Omar? ) :dbu o)} casally (sl
aadll alal ) gud gy g8 Dr. Omar Jswd s dl)

b. non-restrictive s < sall 13 ¢ 38s 3¢ Ju 4 (' my Linguistics professor )-
3. Majid and Saleh, my cousins, will visit us tomorrow.
sl 4aaul 5 5Le NP >> Majid and Saleh-3

48 4penl 3 ke NP >> my cousins
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e L Ly (sl i o gl sas LaaSIS-
..( Majid and Saleh ) ¢lassall Jland¥) 3 5l 353 Y ('my cousins )-
b. non-restrictive s lsall 13 ¢ 38 32 Ju 58 (my cousins ) «llal) o2 b -
Prepositional Phrase
osoaally Jlall s jle
2924l Jall 3_Le Prepositional Phrase (PP):

We mentioned that a preposition is a word like “in” or “on” which is followed by a noun
phrase (NP).

e.g. Mohammed is in the classroom.

In this example, the phrase “in the classroom” is called a prepositional phrase. It has a
preposition “in” and an NP “the classroom”. The function of the NP in this sentence is the

complement of the preposition “in”.
A preposition normally comes before an NP, but it can also be separated from its NP as in:
e.g. The man is standing on the platform.

What is the man standing on?

The platform that the man stood on was very narrow.
However, in these examples, the association between preposition and NP still exists.
cosoaally el s e ) Jaiiie Y-

o el om S i any (5 ) gl o) ity B B S s il e e Tl s
ozl Sl s jle dheyy all Gaa s agan)

osle Jaly o jle dpms adl 1Y) lae dnand o Jlie 5 ga Cisa 3sas bl e (B oaalls el s e T3)-
o (soaalls Sl s e Jaly b 4gel o jle Wl il g1 ) A

. NP 4saud o s 152 o3l (i, on, .. etc. ) © B plas WS o) Cag e
Mohammed is in the classroom /Jts-
O30y e 3oke (& >> in the classroom
A a>>n
4l o jbe NP lgieua >> the classroom
4eul 4 seae Nominal group e s

o (in) o2l ooad Jsmie el (o0 aleadl o2 (8 4panl o jlanl) Ak s-
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ALY (object) | graa g 4alSl) oda 15831 U (Comp|ement) A g ga_&m s a9 e )SJ D5l L

Wﬁ}ﬁ\dﬁ&@m&‘)ﬂa‘)\_\ﬂ\d.‘as.\ﬁugj$WY\°JM\JJ§¢L);]\&J‘);LJ§:_\JH\&_
oY) e alaall 8 el YV B aen) il jlall ) s

(el o lall 5 el Coja) Legie SIS Lial J5Y) JUal -

The man is standing on the platform

codallS i Ll Legia S8 5 (Object of the preposition) sall <isal Js=ie s >> on the platform
S Ja

What is the man standing on?  /Js& 3

Ldal e Gy e 5l 4g Jgria) e Jlus La-

caleall ol 8 pelai Y (4xewY) o jlall) the platform-

ookl s el Capa o sf) dsmse 1) L g Jad i llin (S0 g e all Go e Aliaiio s o jlall 131
s (the platform) 4sew¥! o jlall Helaiv Galull Jigudl Je glas o 13) o Aan¥)

..He is standing on the platform >> ¢S ol sall 13-

oall Gaa g daanl) o ladl (pn Jasl 53 Sla J1 e Slad 13) -

A JE)

The platform that the man stood on was very narrow

.. ba Caatidll dclause gy (Saall (o

.5 on all caa Ji Gels The platform 4sen) s jlall-

..(subject — Ixix) s 13 JS " The platform that the man stood "-

ooal e J8 Caels Ll 4l o jlall 5 cdpans¥l o jlall e all Co s Uliad JUal) 138 iem

23n 5 V1 3ha) Lagiss 3l i O3 Le a3 (S0 5 Asansd o jaall e Jall i L il 3 YA imns o4
__(D.JA\}

However, in these examples, the association between preposition and NP still exists.

Prepositional phrases can express a number of ideas, including:

1. Place e.g. The book is on the desk.

2. Movement e.g. He walked to the mosque.

3. Time e.g. | finished the exam in one hour.
4. Manner e.g. He finished it with little effort.
5. Purpose e.g. This message is for Ahmed.
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6. Agency e.g. The window was broken by the young boy. (Passive)
7. Instrument e.g. | wrote with a pen.

ool s Jlall Gl jlal Gl Gy ) oY) 6 las Al

el 5 S (e 2o e iaS g aall 5 sl &l e

Gsall >> Place -1

sl s Jlall s jle alasiuly Le o LA GlSa (e duaall LiSa-

The book is on the desk /JGs-

Lleeed OSa e U PP soaas b 3ke (4 >> on the desk

et lSe e iS5 mes Jla5ke 2 on the desk 13-

M\ — JWiN >> Movement -2

He walked to the mosque /JU-

.. (the mosque - 3wl ) 58 138 Sl 5 G ) cad 5 Jail L add (JESY) e i ol La-
LS Q) e i R Usoae 5 ) ske & >> to the mosque-

Cal) = cdgll >> Time -3

| finished the exam in one hour /J%s-

Sl ge i ssoae s JlaBlke (& 1Y) QLERY elesY el ) avia 3l o il 4>> in one hour-
Ll

Mh—uéﬁiw gﬁuwgﬂﬁu—uﬁu\ >> Manner -4
He finished it with little effort /JG-

olu ol sl e Hiad y5smas Sl soke (o 13 e o8 13gd 05l 36y kb cilS >> with little effort-
oo dae b Lo i

B g OIS Lo o i) Aol 13-
G — 4le — a £ — 4l >> Purpose -5

e Slo Jsanll ol Lo g ot dand g i clalaial sale - $uasil) 13 ) aiy 138 Ja " a3 1 Purpose-
"ol

This message is for Ahmed /JUie-
e el m e I pdS a5 H5omae Dl 3)ke (A >> for Ahmed-
(Y kel o s e s Aa) aaal b gl 3 Al eda T

L g gl 3a) Aol gy — ddauil g - 4S9 >> Agency -6
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«(Active voice - pslxall dll) 5 (passive voice — Jseaell Fiall) oo il 2Slal )3 e (9 ST 35S 13-
by all G aladial il 5 el 3 Agent - Al aSiSa Jsenall il i of | sialas

The window was broken by the young boy /Jts-
. o3l 2L 53 5 the young boy-

4zin alaall Cela U ¢ The young boy broke the window : Js& (Active voice - p slxall Juall) A-
.. psbadl

Jelé >> The young boy-
.4 Js2iall adzas 5 (The window) 33U (Active voice - astall sl 8 -
.. Il aless 5 >> (The window) 23 (passive voice — Jseaall iaall) 8 oS-
4353S0 J=8 >> was
Js2iall anl —past participle >> broken
.. U353 WS (Verbal grope — 4dsill 4c ganall) ¢15if (53n) & BE + Past Participle -
ALK 4l LY 4l @lln Gad <The window was broken :ds& o (Seall (e -

0S5 (by the young boy) - U_Sh 4 The window was broken by the young boy : Js& lexie (S
L (e28U axhas s ) Lia Giaal) Jed 53 "The agent — JS slledalall” 5l (sl U S5 8

. (el 5 ) WSS - Agency)d) ge xS s mes a5 ske & >> by the young boy -

o3l >> Instrument -7

A el Jand deadin o 3 gl ) 248 sl -y B8 /e

| wrote with a pen /JU-

.. La 4l 508 3 pen ceadind 13-

LY Ge kS ) ssme 5 a3 ke & >> with a pen-

Exercise:

Choose the meaning expressed by the Prepositional Phrase in the following sentences:
a. place b. time €. manner d. instrument

1. My office is located on Riyadh Road.

93lal-co slul-(pe -0l & Ja Sl oS3l 4l >> on Riyadh Road -1
a. place s» <l sl 13 ¢ ol il el sl (e -

2. He graduated college with a good GPA.
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93lal-co sl (e -8 & Ja Slia oS3l a4l >> with a good GPA -2

c. manner s& < sall 1) ¢ alla a)-

3. He fixed the door with a hammer.

with a hammer -3

o Ot Guine 3 LegiSD 5" 35200 SIS 8 el Gija (peit Liaxiias Uil Ui ) glaay-
..( He used a hammer to fix the door — Ll Z3lay 48 Jhdll axaiul ) « 31 L) -
d. instrument s& <l sl 13-

4. They will visit us on Monday.

93lal-c sl (e 3-8 & Ja Slia 5 S8l ale >> on Monday -4

e ) g ad) bl

b. time s& Glsall 13 ¢ G o g b S Ui g ) g hamsm

5. The artist finished the sculpture with great talent.

$3lal-c slal-e -0l A b Sla oS3l ale >> with great talent -5
o ol Ay ¢ dadic 4 se (JUal) 45 aiall el g T3 Le gl Alla -

c. manner s <sall 1) ¢ 45 paiall gl andac 4 sa

Functions of the PP
Dol 5 el s e (ailla g

Dladl sl ailh g 3alin V1 5 (NP 4sans) o bl il 5 (he Liians 4Bl o jualaall 8 (0 S35 LS
PP soaalls

Akl g dspall G (3L oS K3l Cailla o2 ) (3 ki o J-
..(word-phrase-clause) - 41 sedas (s3I eladl) 5f JSall oo rdiuall-

.4leall 8 (word-phrase-clause) Ul Jeall e ol (oo 1adula oll-

. PPN aila e Cunall JaS5 V) -

29l g all 8 e ailli gFunctions of the Prepositional Phrase:
&1, Adjunct

An Adjunct is a word/phrase/clause that provides additional information about another
noun/phrase/clause. It is an optional part of the sentence. If we remove an adjunct, the
meaning will still be complete and the sentence will still be grammatical. It is not a necessary

part of the structure of a sentence. Adjuncts are usually adverbials.
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As an adjunct, a prepositional phrase is considered an adverbial phrase because it does the
same job as an adverbial.

An adverbial is a group of words that does the same job as an adverb. In other words,
adverbials can be used to say when, where or how something happened.

e.g. The man stood on a high platform. (adverbials of place)

This prepositional phrase (PP) is an adjunct that tells us where something happened.

| finished the exam in one hour. (adverbials of time)

This PP is an adjunct that tells us when something happened.
He finished the exam with little effort. (other adverbials)
This PP is an adjunct that tells us how something happened.
DY) adda gl

Tl -1

LS s S el el @l e 13-

word-phrase-) ¢e 4sla) 4a slas 238 5l 35 (wWord-phrase-clause) e s_be s 1 aalil) iy -
..l (clause

,,M\}@m\wwum@ﬁm‘uismdhwa‘;w,ﬂug,@um}g@maisg-

a,,xm;ﬁi;ﬁy@m\goﬁ‘M\J&L@‘ywm\%}@J}Pmmuﬁ@u\bﬂu\‘;-
.. bl e e o e 45Y aleall b atilal xie JLS)

o adeall (e odlaiind (Saall G 13 ¢aleall 8 (s )LER1 6 D A" (el ) (ST (05 il
M) ae) @l e dilaia 4 g i alaall s Saia e Sinalld i) Bda 13)-

ooAleall (Boaclall (55 i e 6 5 il

.. Jai 2y adverbials ) (e 3 sealialle Cajain ¢ "Ca g sk — adverbials” o sS Sale a5l -

il g ()5S Ladie (51) 4 lall Jae (puit Jaad LY 48 )la o jleeS Jalad 51 G0 55 pmall 5 jlall s le ¢ gliS-
(418 Ll i alS Lglae Y 40 Bl o jluell dlalre Jaliad Lild "ol 5 jaally Jlall s )l

.. (adverb -Jal) Jas (i Jaxi 3 CLaSH (o 4 sana A 1 4gd 10

ped Casan sl Cuan e gl (S 5 0l 5 i) oo Ui A a1 Jad) (8 e Jal) e s e () salas -
.

S Jaled Sl ERS al 5S g aall s el @l e Rada g ()5S Laie-
The man stood on a high platform /1Jt«

. ey aleal) olel Adals auai of (Saall o 5 4lia alaa 4 The man stood-
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OIS il 38 Uigh € (a8 g ol 1 J s ¢ ilia) ine Lidial 38 () <38 (0N a high platform) b il 13) oSl
aaall 48 Gaa (51l

OSe e Uiy ol Leitagg e Hgymay Jla3obe Liua ¢ 4ilSa 4,k & >> on a high platform-
codlagind Saall (e g alaall 8 g5 e e ail) O LB LS ¢ L g o gan

| finished the exam in one hour /2J%
.. 4le ) 44 1 228 >> in one hour-
coaalgaele 8l 5a T3 ¢ Lo L el A Aia 3l oyl e Ui Lgila

MMQQP}J‘M‘L}ALAJ\#SM‘OSAAMC}A‘@H@}J}P})\%EJL\Q@>>inonehour—

He finished the exam with little effort /3]s

. ( Manner -l ) e J3 >> with little effort-

Lol e UlS 3l Qi 13 Leia 5 sal il Ll Ta)-

(OB gy ol € LAY il (a) (le o5 Csan AaS e Uiy o) L 13-

. aleall olgil ddaii i 5 He finished the exam : Js&i of WiSa 0¥ &l o >> with little effort-

Note: Compare the definition of adjuncts in this lecture with the definition of complements
in Lecture 6.

A complement is necessary for the meaning to be complete. If we remove it, the meaning
will be incomplete and the sentence will be ungrammatical.

An adjunct is not necessary for the meaning to be complete. It gives extra information. If we
remove it, the sentence will still be grammatical.

24k ala

ARG o palaall 8 Wl S5 Al COUSAN G g o palaall ada & WL S5 Al ad sl g Bk
LGRS il aad 4 ) 5 juia SIS O sl o pualadll b Ll LS

e el ()5S o Ll 13 cOU&AN ) s T3)-

s e (S aleall 5 JaiSa e (S aalls JASA Langi) 13)-

ALl daslae 4y nall JWSY (5 5mm e @l el sl Alls A Jilaal) 8

cAleall 8 o)) daglae ) oS5 bl

5 4l da slaal) s Ll rma gl 4y sa i aleall 5 500 Y g LS Ll Jnalld ol Laegial 13)-
Lo Y L LS liy alaall g Jxall (S

LN g pm e aldl) g caleall B el JLSY 4y 5 i aL&A T3

2. Complement of Subject +BE
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e.g. The book is on the desk.

In this example, the prepositional phrase “on the desk” is the complement of the subject
“the book” and the main verb to BE “is”.

Do 4l agds i
¢ 3l Jud + Jelill &5 D

5 5l Jad + Jolall ale€h Witk 5 () 55 8 4gans) o jlaad) o Ll Ll (5 5S35 LS 4pans¥) o jlanll 4l & 5l 138
.. BE

The book is on the desk /Jta

Jdeldl >> The book

..(main verb — ubul Jad) 58 54558 Jaé >> s

LALEL b g sy s Jla3le lgiiua >> on the desk
LOa e Sl s Wabasiin) WY al& Gela el 5 el s le La-
tasn gt g el e alaall (oS alaal) olenl A e s o3 The book L 13) T3)-
3. Post-modifier in an NP
e.g. The deskin the classroom is covered with books.

In this example, the prepositional phrase “in the classroom” modifies the noun phrase (NP)
“the desk”. The NP is the head and the PP is a post-modifier because it comes after the
head.

1 o AUl agla )
D aand o le (B (gamy Jarae -3
s 0S8 A YA L SY 5 ecVard) e g asan) o bl (e Baie Waas
(o J8 b ) add e
(ol am Sl ) gaey Y e
The desk in the classroom is covered with books /Jt«
4aul 5 e NP >> The desk
LAl e Gl glae Caniay ggd (g Jare 5 e o jlall e ¢ 3> 8 >> in the classroom

8 le cilS 131 Lo oyl Lgaddiins 4y yhall 038 131 <"it" o (The desk in the classroom) Jlasiasl ¢Seall ye-
v AganY) o bl (e e a5 malls sl

t O Ll Aanyl o el Jay Mit" peall g o (Sl (g T3

It is covered with books
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ol AanYl o Ll 038 5 cdgand 5 le & The desk in the classroom 13-
s allall oda 8 sl 5 ¢ (in the classroom) Lsoaalls Jlall 3 ke 5 (the desk) 4wl o lall
(the head — Jll) >> desk
" desk" Ll ) Jd els Y (pre-modifier — L8 Ji=s) >> the
4au¥l o jlal) 8 (post-modifier — g J3=k) >> in the classroom
.. (The desk) 4ses¥! s jluall i (in the classroom) Lsoaalls Jlall s le 1 Jlal 13 8-

o Ol Casla LY (gamy Jnk (& Jsoaalls Jlallsle 5 Oall o apen¥l o Ll

4. Complement of an Adjective
e.g. Ahmed is good at Mathematics.

In this example, the prepositional phrase “at Mathematics” is the complement of the
adjective “good”.

We will discuss adjectives in more detail in the coming lectures.
SO PR R RER
raaallalsl 4
o liall aAl&) e J seanll Uiy Ua g o Jinall JUSY 4355 o (o AL&A g Al o e
Ahmed is good at Mathematics /Jlie-
Jdelé >>Ahmed
d=é >> s

L aedll Gl jualall = Glaall (8l (dda >> good
el oda 3 imall JLaSY 4y )5 jain 4 sl Lidan o jliall 038 ¢ 5 me 5 Ul 3ole >> at Mathematics
C((Tun s 13l ) fan g 2 ) 1 JLliée (Ahmed is good) @ J sk Leaisi-
Ahmed is good at Mathematics: Js& s 4leall JeSi o cand
."good" 4iall Al 4 "at Mathematics" sl s Jlall 3 e (Ul 138 -
. Al @l bl b clicall e (Bl Wl «o S0 LS-

Exercise:
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Choose the correct function for the underlined PP.

c. adjunct a. complement of subject+BE

d. post-modifier in an NP b. complement of an adjective

1. We finished our exam in 2 hours.

fisans Jinh i $aUE s 8 >> in 2 hours -1

oAl e b Sl Mit" o (our exam in 2 hours) Jaivd LSy Y 43 (saay Jieh Cand 4 4gladll i

ALs 4lea We finished our exam 4leall zuais in 2 hours i ¢ LiSay 43Y) Lia 4l cad o -
el o se 3 ) 13g) i gl ol ) e adilia) il slas Lithe| in 2 hours oS 5 (sl

o sl 13 ¢ alls a Gli 4y 55 pn yue 4dilia) Ao sleaS Ciela Lol LS casile 3 4855 8 in 2 hours 13-
adjunct

2. We visited the big shop in the mall.

Jeldll >> We -2

J=éll >> visited

saal 5 oan 5 Lil ) saali >> the big shop in the mall
We visited it 1 Jsi o) oSaall (s

Liadaail o jluall 638 dalagy Ll (g1 ) (inall JLSY o jluall o3 dalay (ad (adli o 4 in the mall 4l s 3
..(the big shop) 4xes¥) o jlall (samy Jama (& ) 13gd ¢ (LSl jaidll e 4dlia) 4a slas

.leie Y2 "it" i 5 (the big shop in the mall) 4se¥) o el Jlagio) WiSay
4anl 5 e NP >> the big shop
d. post-modifier in an NP s <l sall " the big shop" 4ses¥! s jlall 532y J3x4 >> in the mall
3. Mohammed is fluent in English.
Jeld >> Mohammed -3
dadll >> s
4da >> fluent
fluent 44l 44 & >> in English

"in English" zUsid Smuad s 1a & oI0mual 4 28 1Jeludl B ((Mohammed is fluent?) :d s Laxie-
ainall JLSY

b. complement of an adjective s < sall 13-

4, Ahmed was in his uncle’s house.
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deld >> Ahmed -4

Jzé >> was
e Sl JLSY (5 )5 em alaall 028 8 a3 ga 5 >> i his uncle’s house
.. adaall JLSY aalay (i U ¢ ey 3 Ahmed was J 58 WiSay Y -

a. complement of s& ) sall 131 ¢« 43 i€l Jad + Jelill alesa & >> in his uncle’s house 13-
subject+BE

5. Ahmed’s uncle has a big TV in his house.
Jell >> Ahmed’s uncle -5
J=dll >> has
4aaul o e NP >> a big TV
N9e Laida g oo Lalia ¢ H5 na 5 )3 ke >>in his house
.. (has) 458l J=3 + (Ahmed’s uncle) Jelill 4ls% a3 big TV aehll-
caleal) 8 el JUSY 4y 5 i e 4l 4a sles WY (oS 2 (in his house) 1) -

" Canmi ladie (€1 5 ¢ Lagl 4y sn0 5 inal) ALK alaa () S5 Ahmed’s uncle has a big TV 1 Jsll LS
. Aflial 4 sl Wl (4 S3u8 "in his house

"¢ aeal P Iy Lﬁ;ﬂ\ et & Q..gi" 1 oa alaall ( in his house) BaAs 13 Jhgad) o oS fa -
Al e onls o s saalls el s le Aida 3l

c. adjunct s ol sall 13-

5 ST a5 caliall il yualaall 8 ) La o il ) g gl 5 @l lal) (e ddlise £) 5l e Cuaal) JeSi
.. 1l clause e ST e s gind Al 5 Tagas T Jad 2l
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